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Question Number : 1 Question Id : 9679471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. CLIENT
2. CLOSER
3. CLAIM
4. CIRCLE
5. CITIES

Options :

1. ® 45321
2. % 45312
3. % 43512



4. *= 43521

Question Number : 1 Question Id : 9679471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al Xrsal &I WsadI | 3 aTd HH & STHR ford |

1. CLIENT
2. CLOSER
3. CLAIM
4. CIRCLE
5. CITIES

Options :

1. % 45321
2. ¥ 45312
3. % 43512
4. % 43521

Question Number : 2 Question Id : 9679472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

QZ, SE, UL, WO, YT, AY
Options :

1. * WO

2. % QZ

3. YT

4. ¥ Ul

Question Number : 2 Question Id : 9679472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T 3fIepd fear T B, fo e 9§ U ug 7Tad ¢ | fau 7 fawed o © 39 Tad ug &1 gi-u|

QZ, SE, UL, WO, YT, AY
Options :

1. ¥ WO

2. % QZ

3.% YT

4. % Ul

Question Number : 3 Question Id : 9679473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

NS21, KN41, HI61, EDS8I, ?
Options :

1. % CY102

2. ¥ BY101

3. ¥ BY102

4. % BZ110

Question Number : 3 Question Id : 9679473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3ehH fea T 3, ford ¥ U UG qu 5| fau U faseul & © 95 We! f[ddhed g, il 3 d &l g1 &

NS21, KN41, HIol, EDS81, ?
Options :

1. % CY102

2. ¥ BY101

3. % BY102

4, % BZ110



Question Number : 4 Question Id : 9679474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. ¥ Rice

2. % Needle

3. % Sugar

4. % Salt

Question Number : 4 Question Id : 9679474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferad uy & fau 7 fawedl & 9 favm 2sg o1 gAu|
Options :

1. % ddd]

2.V s

3. %

4, % qHDh

Question Number : 5 Question Id : 9679475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % HEL - SVO
2. % NAD - MZW
3. ¥ MOD - NLV
4. % FUN - UFM

Question Number : 5 Question Id : 9679475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR UMY IR seR gE UM E | () & Sl oiR A T a1eR (o) F arfY o A TR a1eR 2 foreft adh Mo iy 9 Tafda 81 A
I TH qh/Mar/AEY & YR IR 99 g | 3T T8 fawen & ¥ fawd &1 g

Options :

1. ¥ HEL - SVO

2. ¥ NAD - MZW

3. % MOD - NLV

4. # FUN - UFM

Question Number : 6 Question Id : 9679476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % ORS - PXH
2. % WHO - XNK
3. % UNO - VTL
4. % PAK - QGP

Question Number : 6 Question Id : 9679476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R RuTT Ty H, TR 3eR T RUTU 1 () P T 3R 38 T 31aR () & <t 3R o T sreR ¥ fht adh fom/dey @ Tefia g1 =
I U do/ /ey & SMUR IR 99 g | 73T T fawmed # ¥ faww &1 gi-u|

Options :

1. ¥ ORS —PXH

2. % WHO — XNK

3. % UNO-VTL

4. % PAK — QGP



Question Number : 7 Question Id : 9679477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Fruit : Mango :: Mammal : ?
Options :

1. # Snake

2. # Sparrow

3. # Frog

4. ¥ Bats

Question Number : 7 Question Id : 9679477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we # fou e fawed # ¥ Tefid wsg! &1 g
T : 3 :; XU : 2

Options :

1. % gy

2. % ffgar
3. % U

4, ¢ JHIcS

Question Number : 8 Question Id : 9679478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

PJLMOT : UEQHTO :: EUGIAD : ?
Options :

1. % JPLDFZ

2. % JQLDFY



3. ¥ JPLDFY
4. % JQLEFZ

Question Number : 8 Question Id : 9679478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad oy & fou 7o fowed! & @ Sefda sieri &1 gl

PJLMOT : UEQHTO :: EUGIAD : ?
Options :

1. # JPLDFZ

2. % JQLDFY

3. % JPLDFY

4. ¥ JQLEFZ

Question Number : 9 Question Id : 9679479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

REODX : QDNCW :: ?
Options :

1. % TCZIU : SBXHT
2. % AUGVW : ZVFUV
3. ¥ HSPML : GROLK
4, % AMYOP : BNXNO

Question Number : 9 Question Id : 9679479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fau e fawedt & O d6fia siek g o1 gl

REODX : QDNCW :: ?



Options :

1. # TCZIU : SBXHT
2. % AUGVW : ZVFUV
3. % HSPML : GROLK
4. ¥ AMYOP : BNXNO

Question Number : 10 Question Id : 96794710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘HELLOS’ is written as ‘EHLLSO’. What is the code for ‘PRINCE’ in that code language?
Options :

1. ¥ RNPIEC

2. % RPNIEC

3. % RPINCE

4. % RPNICE

Question Number : 10 Question Id : 96794710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fIfR $IS YW H, ‘HELLOS® & ‘EHLLSO’ feraT SITdl 5| 39 B W H ‘PRINCE’ 1 HIS 1 52
Options :

1. ¥ RNPIEC

2. ¥ RPNIEC

3. # RPINCE

4. ¥ RPNICE

Question Number : 11 Question Id : 96794711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘A port of history’ is written as ‘9 4 8 2’°, ‘History is a tough subject’ is written as ‘2 1 9 7 5°. What is the code for ‘a
history’ in that code language?

Options :



1.¥92
2.% 49
3.% 27
4. % 85

Question Number : 11 Question Id : 96794711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁﬁmm ‘J-HEITﬁ, ‘A port of history’ BH9482 %IETGT?‘IT%, ‘History is a tough subject’ H21975 WT\_SHHT%I 3@[@3 T H <a
history’ Waﬂtc:am%?

Options :

1.¥92

2.% 49

3.%27

4. % 85

Question Number : 12 Question Id : 96794712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘CANNA’ is written as ‘37°, ‘PAGAN’ is written as ‘43’. What is the code for ‘SUTRA’ in that code language?
Options :

1. ¥ 83

2. % 81

3.% 79

4. % 82

Question Number : 12 Question Id : 96794712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR BIS UTWT H, ‘CANNA® & 37 feTaT SITA1 8, ‘PAGAN® B *43° foRaT STl | 39 IS UTWT H ‘SUTRA® BT HIS T 52
Options :

1. ¥ 83



2. % 81
3.% 79
4. % 82

Question Number : 13 Question Id : 96794713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘He will be there son’ is written as ‘eq Ip sx tn or’, ‘There is a live match’ is written as ‘tn so fq vo hp’, ‘The match
was tight’ is written as ‘el hp sf gq’. What is the code for ‘match there’ in that code language?

Options :
1. * Ipvo
2. % orel
3. % sxgq
4. ¥ hp tn

Question Number : 13 Question Id : 96794713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% ARy ®le ‘J-I'I'ElT'Ef, ‘He will be there son’ ®I ‘eq lp sx tn or’ foran s %, “There is a live match’ @1 ‘tn so fq vo hp’ foran Sar %, “The
match was tight’ D ‘el hp st gq’ forar ST B S DS YT T ‘match there’ BT HIS HI 87

Options :

1. * Ipvo

2. % orel

3. % sx gq

4. ¥ hp tn

Question Number : 14 Question Id : 96794714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A, B, C, D and E have one car among C1, C2, C3, C4 and C5. No two of them have same car. D have C1. C doesn’t have C5, C3 or C2. A
doesn’t have C5. E have C2.
A have which of the following car?



Options :
1. % C4
2. % C2
3. % C5
4. C3

Question Number : 14 Question Id : 96794714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,B,C,DAUTEB U CL, 2, C3, C4TUC5 HATH PRI STH A B N S U T SR TG B I DF U C1 81 C H UM €5, C3
2T BIAF U CSTRIGI EF U C2 8| FEfiifaa H ¥ A & U &F Tt R 82

Options :

1. % C4

2. % (2

3. % C5

4.9 C3

Question Number : 15 Question Id : 96794715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of five members is to be selected from A, B, C, D, E, F, G, H and J. One person among G, F and D must be selected. H and F must be
selected together. D should not be selected with E. J should not be selected with C. G and A should not be in the same team.

Which of the following team can be selected?
ILGHFAD
II.BGAFH

Options :

1. % Only I

2. % Only II

3. % Both Iand II
4. ¥ Neither I nor II

Question Number : 15 Question Id : 96794715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A,B,C,D,E, F,G, HaulJ 8 J Uld G| &1 T A I ST &1 G, F AU D | | T Afad AT &1 ST eI H a1 F T 1Y g oA
TRUI D, E & 91 =51 g1 AT MG J, C &b 1Y a1 AT 1 A1fgT1 G qUT A A &Y T =151 g A1fg |

FrafaRad o 9 oF I <\ g S w82
LGHFAD
ILBGAFH

Options :

1. % dhad [
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Question Number : 16 Question Id : 96794716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five persons T, V, W, X and Y are sitting in a row facing towards south (not necessarily in the same order). T is sitting to the immediate right of
W. X is sitting third to left of W. V is sitting to the immediate right of Y. In which of the following pair second person is sitting to the immediate
right of first person?

Options :
1. * WV
2. % TW
3. ¥ XY
4. % VX

Question Number : 16 Question Id : 96794716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U e T, V, W, X 94T Y U Ufad § G0 &t 3R g Hb 96 §U B (SR el &1 ST HHA BN T, W & gid Gl 3R 931 g3 g1 X,

zvhjagﬁaﬁ%m@ﬂ:rwéag&ﬂélvY%@ﬁ?@@?éﬁ@%%lﬁ?ﬂﬁf@ﬁﬁﬁ%ﬁlﬂﬁgﬂﬂwmusmwm%gmaﬂﬂ
g e?

Options :




1. ® WV
2.% TW
3. ¥ XY
4. % VX

Question Number : 17 Question Id : 96794717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 boys P, Q, R, S, T, U, V and W are sitting around a circular table facing towards the centre (not necessarily in the same order). R is third to the
left of P. U is second to the right of P. Q is immediate neighbour of S and U. V is third to the left of S.

Which of the following statement is necessarily correct?
I. W is second to the right of S

II. W is to the immediate left of P

III. 3 boys are sitting between P and S

IV. U is to the immediate right of V

Options :

1. # Il and III

2. % Il and IV
3. % [ ITand IV
4. % Only II

Question Number : 17 Question Id : 96794717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8ASH P, Q,R, S, T, U, VAUT W &g Bl 3R g b U GuIBR Tl & 3¢ — 1116 96 BU & (SR Tal bl S HH A 8N R, P b arT 3R
JRRIZI U, P& ST IR GERT B Q, S 9UT U &1 dhead USRI 81 V, S & a1 3R dRRT g |

Froffad & @ i a1 sy Rigd S It 2o
I W, S %GRt 3R gaRI §

IL W, P& qed a1t 3R g

L. PAYTS & A 3 ASH 96 §U &

IV. U, V & q¥d aRiY 3R B

Options :




1. * [ dUTIII
2. I AT IV

3.8 [ I AATIV
4. % Had Il

Question Number : 18 Question Id : 96794718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘P + Q* means ‘Q is the mother of P’, ‘P x Q’ means ‘Q is the sister of P’, ‘P — Q’ means ‘Q is the wife of P°, ‘P + Q* means ‘Q is the father of
P’, ‘P # Q’ means ‘Q is the daughter of P’.

Which of the following statement is necessarily correct?
I. ‘S+ A +F—H’ represents S as the son of A.
II. ‘G x H+ K # L’ represents L as the sister of G.

Options :

1. % Only I

2. ¢ Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 18 Question Id : 96794718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e P+ Q BT 3Y Q, PHIAMIE’, P x Q' BT 3 Q, PHITEE", P~ Q" BT 3% ‘Q, PHI Uell B, P+ Q* BT 3% *Q, P I AR, P #
Q H 3 QPR T

Fraffad 8 9 o a1 sy Rigd Sud I 2
LS+A+F-H,S® ABIYAEI
IL‘GxH+K#L,L® G 981 Qi1 gl
Options :

1. % Hadl

2. ¢ HAd Il

3. % [ QYT ISl



4. % ATEIIATSIII

Question Number : 19 Question Id : 96794719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I.NoJisT.
II. Some S are J.

Conclusions:
I. Al Sare T.
II. Some T are not J.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 19 Question Id : 96794719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy & 58 U 3R 39D 918 31 Bl R SMUTRT & (5h U T | 3T T By oI 91 AM, 1e 39 AE= 1 a2t
3 firerar 811 gt e ue SR fiRR Fauffed &% o fau T 1 T fse, 3T 71T AT & SR R gfeaia 8|

HY:
L ®is Wty T I
IL.$SS, I8l

fsep:
Lafs, TRl
IL.$ST,IT6l gl



Options :

1. # $Had [T5HY [ 3IERU Hdl §

2. ¥ Had fHY 11 SR Hdl &

3. % G fShY [ T 11 SFJAR0T 6’ ©&
4. % DIz W} FIpy SR 8} HRT 8

Question Number : 20 Question Id : 96794720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
. NoXisY.
II. Al Y are F.

Conclusions:
I. Some F are not X.
II. Some Y are not X.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 20 Question Id : 96794720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U 3R 39D 918 31 Bl R SMUTRT & (b U MU | 3T T Byl &I 9! AM, 91e 3749 AEa 1 a2t
Y oz 81t feed U oik fsR i & 6 fou o 1 O fse, fou 71U wyi & SR &R gfaasa g

DY:
LB X, Y TR &l



.94y, F g1

fsep:

LPSF XTe gl

IL $3 Y, X 7ol gl

Options :

1. # $Had [T5HY [ 3ITRV Hl &

2. % Had (BN 11 SR Hl §

3. ¢ GFI F5HY 1 T 11 SRR vd &
4. % B1g Wi Fepy 3ERUr el BT ?

General Ability2
Group Number : 2
Group Id : 9679472
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability2
Section Id : 9679472
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 9679472
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 96794721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some tailor are man.
II. Some man are hard.

Conclusions:

I. No hard are tailor.

II. Some hard are man.
III. Some man are tailor.

Options :

1. # Both conclusion I and II follows
2. ¥ Both conclusion II and III follows
3. ¥ Only conclusion I follows

4. % Neither conclusion follows

Question Number : 21 Question Id : 96794721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau U Uy H 8 U 3R IF 918 31 HYHI IR YR & 56y 3T T4 § 1 3T T H2= & 981 AM, 3R S8 Qg J1d 9
@rm@mﬁﬁwﬁq%aﬁ?ﬁﬂﬁ%ﬁhﬁﬁ%mwﬁqﬁw f3U U F=1 & YR W gfFaed g

DHY-:
L. 3O ool gE B
1L $3 [ 9% g |




fsep:

1. ®Is Ht T goff o1 5|
II. $3 T GEY 3|

111 $& GV Goll g

Options :

1. % Q! F5BY 1 YT 1T SRRV $HRd &

2. ¢ I FISHY 11 qT 111 3FIERUT 63l &
3. % $Had fTsHY [ SR Bl §

4. % B3 o ISy SR T8l HrAT §

Question Number : 22 Question Id : 96794722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All A are D.
II. All M are F.
III. AIl F are D.

Conclusions:

I. Some M are A.
II. Some F are M.
III. No F is A.

Options :

1. ¥ Only conclusion II follows
2. % Only conclusion III follows
3. % Only conclusion I follows

4. % Neither conclusion follows

Question Number : 22 Question Id : 96794722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR SUING & 56y 3T T4 § | 3T T = & 981 A, 918 S8 Qg I 9
3 oz 81t e o ofk fRR fReifa &% i fou o o O fse, fou e syl & smyR &R gfaasa g

DHY-:

L9 A, DBI
1. 94t M, F &1
1L I E, DT

fsep:

LHS M ARI

L. $SF,M¢E|

1L &S W F, A TS 1

Options :

1. ¥ $Had [T5HY 11 3TIR01 Hdl §

2. % Had (5HY [T 3IERU HT §

3. % $Haq fTsHY [ SR Bl §

4. % Pig W} FIHY SR 8! R §

Question Number : 23 Question Id : 96794723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some J are M.
II. Some M are W.
III. No J is B.

Conclusions:

I. Some M are not B.
II. Some W are B.
III. All J are W.



Options :

1. # Both conclusion II and III follows
2. % Only conclusion I follows

3. % Only conclusion III follows

4. % Both conclusion I and III follows

Question Number : 23 Question Id : 96794723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR YN & 56y 3T T4 § | 3T T =1 &1 91 A, 918 S8 Qg I 9
3 frzrar 81t e o ofik fsR fReifa & i fou o o 3 s, fou U syl & smuR &R gfaasa g

DHY-:
L$S I, Mgl
IL.FS M, Wgl

111 @ it 1, BAE 21

e

L. $S M, BRI gl
I. $S W, B &l
1L g+ g, w g1

Options :

1. % Q! FSBY 11 T 111 SRR & &
2. ¢ I DY | SFIIR0T el §
3. % $Had fIsHY [11 3FIER0T el &
4. % Gl FTSHY [ AT 111 SFTAR0T Rl §

Question Number : 24 Question Id : 96794724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

512, 520, 528, ? ,544



Options :
1. ¥ 536
2. % 537
3. % 540
4. % 542

Question Number : 24 Question Id : 96794724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy & &Y 1S Yaen A 9 g 3id J1d Hifor|

512, 520, 528, 7 ,544
Options :
1. ¥ 536
2. % 537
3. % 540
4, % 542

Question Number : 25 Question Id : 96794725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

19 [ 10| 16
15 | &5 =2
136 36| 207

Options :
1.7
2.%9
3. % 11
4, % 13



Question Number : 25 Question Id : 96794725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad oy o fau e fawmed! & O Uy frg (2) o I WR 3 aell W= &1 gl

19 1191 16
15 | & 2
136 36| 207

Options :
1.¥7
2.%9
3.% 11
4. % 13

Question Number : 26 Question Id : 96794726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

6,7,9, 18,45, 135
Options :

1.7

2.%9

3. % 18

4. % 45

Question Number : 26 Question Id : 96794726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3FhH faan T 3, Ford ¥ U U 7 ¢ | 73U 7Y fased! o ¥ 39 71ad Ug & gHu|



6,7,9, 18,45, 135
Options :

1.7

2.%9

3. % 18

4, % 45

Question Number : 27 Question Id : 96794727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 2 ¢ (3 2 ¢ 2

If “+> means ‘—’, ‘~” means ‘x’, ‘x’ means ‘+’ and ‘=’ means ‘+’, then which of the following equation is incorrect?
Options :

1.¥ 48 -84+28+6=13-51+17

2. % 33+31+62%x18<36+7+28

3.% 11 +15+3<14-45+36+72

4, % 69 +23 x5+2<56-75+25

Question Number : 27 Question Id : 96794727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe <+ 1o B3 o, oo BT 3 < quT <+ 1 31 4 |, A Fufafea & @ o w1 Tt Ted 72
Options :

1.¥48-84+28+6=13-51+17

2. % 33+31+62x18<36+7+28

3.% 11+15+3<14-45+36+72

4. % 69+23 x5+2<56-75+25

Question Number : 28 Question Id : 96794728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.



Red, Yellow, Colour
Options :

211® 18] 1©

Question Number : 28 Question Id : 96794728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 3G AT ot 7 AT 7w 3 & ot & Tay o1 Tt ey Hrar g |

Options :



©
1. #
2. % @
&
(0o
4, %

Question Number : 29 Question Id : 96794729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many tyres are not hard?



Black

Options :
1. % 12
2.¥ 13
3. % 11
4. %9

Question Number : 29 Question Id : 96794729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fhd- TR & 151 67

Options :
1. % 12
2.¥ 13
3.% 11



4. %9

Question Number : 30 Question Id : 96794730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many green are blue?

Blue —

Cireen

2/..--'“‘_"““--‘__\\
4 8 6 | 5 \

/

White

Options :
1.+ 11
2. % 8
3.% 7
4, % 12

Question Number : 30 Question Id : 96794730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem gY e 82



Options :
1. ¥ 11
2. % 8
3.% 7
4. % 12

Question Number : 31 Question Id : 96794731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. Number of rectangle which are only figure are 14.
II. Total number of square are 11.

Figure
Pl Rectangle

[i] 3 ,.-'"

I~
Ll
=0

Square

Options :
1. % Only I



2. % Only II
3. ®* BothIand II
4. % Neither [ nor 11

Question Number : 31 Question Id : 96794731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a0 T 39 3INT & 3MMYR R, FafalRad 7 A o9 91 U= I8t 82

1. 98 3TId S had g, I I 14 T
IL I &1 ol AT 11

Options :

1. % Hadl
2. ¢ HAd Il
3. % [ QYT ISl
4. % qEIIATE I

Question Number : 32 Question Id : 96794732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is not correct?

I. Number of tailors who are not dancer are 5.



II. Number of doctors who are dancer and tailor both are 9.

Tailor

3 K

6 [~

\ \_/ &
Doctor Dancer

Options :

l. % Only I

2.¢ Only II

3. # BothIand II
4. #® Neither I nor II

Question Number : 32 Question Id : 96794732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa8 0 39 3 & MYR R, fFAyfeiiRad # ¥ &9 I By T8t 18! 82

1. I8 TNl Sl Jd -Te! &, DI BT 5 7 |
I1. 98 STaex Sl I YT goif G 8, B I 9 B |

—
3\
8 2 5
6};\\

TN/



Options :

1. % FHadl
2. ¥ Had Il
3. % [T I gl
4. % qGIIATRIII

Question Number : 33 Question Id : 96794733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure is similar to the given figures?

o0
O 0

Options :

oo

o0

)
1. %

o O
o O

2.¥

LA

000
000



Question Number : 33 Question Id : 96794733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI It i &t TS Srpfadl & THH 82

o 0
o0

Options :

oo
oo

Question Number : 34 Question Id : 96794734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.

Options :
AN
v
1. %
0
0
2. %
0
3.¢
AY
A
4, %

Question Number : 34 Question Id : 96794734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRad uy , 4T 7T faswedl § 9 fawd i ! gi-u|

Options :

A
\Y%




O

il
2. %

i
3. ¢

v

A
4. %

Question Number : 35 Question Id : 96794735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

VAN BT, TR A AE
AR LAN IR RN AR
Options :

‘L O
LA




e
DDO

2.¥

—e<—
Ol 1K O

~
8
— 00—
O

Question Number : 35 Question Id : 96794735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy @ feu e foswedl O 9 Uy g (2) & RIM R 3 arelt 3HTdhid &1 gl

J)A Dq‘l’AcLD
ol 11 1 Pl €

Options :

O

v

O
b <
1‘&1:1

2.¥




O

— <
>

1 I

—o0—
<
O

Question Number : 36 Question Id : 96794736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.

Lo A uC e oo

Options :



™y

Question Number : 36 Question Id : 96794736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(::) & St SR <t et &1 snpfaat fordt adh/fomaddy I defia g1 38 M faswedi § 9 () & ol 3R IHMH adb/Aom/Asy wR sruia
q spfd 1 |

Lo A a0

4,

Options :

1. %

2‘ \/ %
3. %



Question Number : 37 Question Id : 96794737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

N

Options :

2 B

>

4
2

S




Question Number : 37 Question Id : 96794737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR AHAa H T I IR I B gAY o & uy siipfa a5

Options :

L

Question Number : 38 Question Id : 96794738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Two positions of a dice are given below. What will come opposite to face containing ‘4°?

Rdpng
Options :

1.¥2

2.% 6

3.% 7

4, % 8

Question Number : 38 Question Id : 96794738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T U @ QY SaRTE <RI TR § | 4° gard wad o fAuRid R e

P @

3.% 7
4. %38

Question Number : 39 Question Id : 96794739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?



Options :
1.4 10
2. % 11
3.% 12
4. % 13

Question Number : 39 Question Id : 96794739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@ 1 sipfa B fha Brya &2

Options :
1.4 10
2. % 11
3. % 12
4. % 13

Question Number : 40 Question Id : 96794740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many quadrilaterals are there in the given figure?



Options :
1. % 20
2.9 22
3. % 24
4, % 26

Question Number : 40 Question Id : 96794740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I Spfa H e Ty &2
Options :
1. % 20
2.9 22
3.% 24
4. % 26

General Awarenessl1
Group Number : 3
Group Id : 9679473
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awarenessl

Section Id : 9679473
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9679473
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 96794741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
festival is associated with Punjab.

Options :

1. ® Pola

2. ¥ Hola Mohalla

3. % Bihula

4. % Losar

Question Number : 41 Question Id : 96794741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



 JBRUYYE Y 9 gl

Options :

Question Number : 42 Question Id : 96794742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bhamakalpam dance belongs to

Options :

1. # Tamil Nadu

2. ¥ Andhra Pradesh

3. % Mizoram

4, % Assam

Question Number : 42 Question Id : 96794742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HHGOH T Y gl
Options :

1. % qfierg

2. & Y TSR

3. % feiR|

4, % AHYH

Question Number : 43 Question Id : 96794743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following monument is located in Karnataka?



Options :

1. ¥ Chitradurga Fort

2. # Sultan Ghari’s Tomb
3. % Bekal Fort

4. ® Kangra Fort

Question Number : 43 Question Id : 96794743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afeRad § 9 &1 91 TR Sice & R 82

Options :

1. ¢ fergl fopet

2. % oM T AhaR]
3. % dhd foball
4. % DTS fell

Question Number : 44 Question Id : 96794744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following person is associated with guitar?
Options :

1. % Gopal Das

2. % Kishan Maharaj

3. # Hari Prasad Chaurasia

4. ¥ Brijbhushanlal Kabra

Question Number : 44 Question Id : 96794744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffad § @ &1 91 afe fieR | Se1gen 82

Options :



1. % 9T g1

2. % B HERS

3. % gR UaTe IRRaE
4. ¢ JOIYYUTATS BISR]

Question Number : 45 Question Id : 96794745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The interest rate at which the Reserve Bank absorbs liquidity, on an overnight basis, from banks against the collateral of eligible goverment
securities under LAF is called

Options :

1. ¥ Reverse Repo Rate
2. # Bank Rate

3. # Repo Rate

4. ¥ Exchange Rate

Question Number : 45 Question Id : 96794745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁaﬁﬁmamwﬁﬁé%aﬁﬁﬁwww(mgw)édsd dP1 I UH BRI Gayfcrdl & FUiHe & oo, far-ge
3MYR R, TAMA HY ANV FRATR Pl g

Options :

1. ¢ fRgd YR
2. % 9H R
3. % IR
4. % AR

Question Number : 46 Question Id : 96794746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not an Indirect tax?
Options :



1. % GST

2. # Custom duty
3. % Excise duty

4. ¥ Corporation tax

Question Number : 46 Question Id : 96794746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfed & ¥ 31 Th e I Toi o2
Options :

1. % off Tg. &,

2. % T Yeb

3. % 3dIq Yeh

4. DB

Question Number : 47 Question Id : 96794747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the correct measurement of Gross Fiscal Deficit?

Options :

1. ® Total expenditure + (Revenue receipts — Non-debt creating capital receipts)
2. ¥ Total expenditure — (Revenue receipts + Non-debt creating capital receipts)
3. #® Total expenditure — Revenue receipts

4. ® Total expenditure + Revenue receipts

Question Number : 47 Question Id : 96794747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tl ST g1 BT Fet /Y T 52

Options :

1. % $A T + (ToRd WAl — IR FH07 ¥ Jiord Goiiird wfan




2. ¥ $d g — (IR Tt + TR 01 ¥ Yord goivTa urfeera)
3. % T o — XToRd UTfeerr
4. % Hd Y + o Wftaar

Question Number : 48 Question Id : 96794748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a closed economy, there are three sources of demand for domestic goods. Which of the following is not one of them?
Options :

1. % Consumption

2. # Domestic investment

3. ¥ Government spending

4. ¥ Net exports

Question Number : 48 Question Id : 96794748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS §¢ Adogae o, ee axgail &1 7T & o Hid ¢ | Fufafad o 9 o w399 9 ue 6 82
Options :

1. % JUHN

2. % T Faw

3. % BN T

4.« Faa Fafa

Question Number : 49 Question Id : 96794749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is true regarding Issuance of currency in India?

I. Coins are minted by the government of India.
II. The Reserve Bank of India puts the coins into circulation on behalf of the central government.

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 49 Question Id : 96794749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & G IR $RA & ey & Fafaied o 9 &F 91 &3F 81 82

1. Rygp! &1 T YR TRPR gRI fhar wrar gl
11. HRJ1T RoTd S TRPR &t R% I Rygdh! & Tad § STadr g |

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. ® A A

Question Number : 50 Question Id : 96794750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Through which of the following can the sound travel?

I. Gas
II. Vaccum
I11. Solid

Options :

1. # Iand II

2. % Tand III

3. % Il and III
4. % I, Il and III



Question Number : 50 Question Id : 96794750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@ Fafefad 7 3 few 1 Jaid gidt 8

L9

1. dogH

1L 319
Options :

1. % 1dYT1I
2. ¥ 1AYT Il
3. % (U

4. % LI dYTIII

Question Number : 51 Question Id : 96794751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement regarding metals is correct?

I. Property of metals by which they can be beaten into thin sheets is called ductility.
II. Property of metals by which they can be drawn into wires is called malleability.

Options :

1. * Only I

2. % Only I

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 51 Question Id : 96794751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ergell & o A Frafifea & 3 o9 T sy 98l 22



1. 4T3t & 01 forids HRUT 3 Uiedhr e H gRkafdd fordm ST bl §, d-0a1 deardi gl
I1. Y13 o 701 FoT I BRI I Wiadx ari H yiafd far S Il 7, smaraad-Tadr daard g |
Options :

1. % Had 1
2. % Had I
3. % [ UGl
4. TIRIIATRII

Question Number : 52 Question Id : 96794752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following relation of number of atoms is correct?
Options :

1. ¥ Number of atoms = (given mass/molar mass) x avogadro number
2. % Number of atoms = (given mass/avogadro number) x molar mass
3. ¥ Number of atoms X avogadro number = given mass X molar mass

4. ® Avogadro number/number of atoms = molar mass X given mass

Question Number : 52 Question Id : 96794752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRUTU3T & TRe T FFafafad § 9§ i A1 Jae 98! 82

Options :

1. ¥ TRATIL3M 1 T = (a1 1 SeqdH=/MIeR SaHT) x HTANTTS! SRAT
2. % TRUTULS{T D1 TAT = (f&am T SqaT/ STaRTIS! WA x TR GoiqH
3. % URATUST DT TBAT x STATG] T&AT = &1 7T GouHT < HIeR SoaH =
4. % SIS SHT/IRATIL3 &1 WA = fear a1 gead™ x Hiek Soaq =

Question Number : 53 Question Id : 96794753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following pair of tissue — type is correct?

I. Parenchyma — Simple
II. Xylem — Complex
III. Sclerenchyma — Complex

Options :

1.¥ Tand II

2. % Il and III
3. % Tand I

4. % I, 1I and III

Question Number : 53 Question Id : 96794753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3% - UHR &I HEfRed & 9 &F 91 3 9a1 82

L. N-HHT - TR
II.W—W ~
11, THAR-BISHT — Sifed
Options :

1. 13T

2. % [ dUTIII

3. % [QUTIII

4. % [ 11 dYT I

Question Number : 54 Question Id : 96794754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the largest continent of the world.
Options :
1. % Affica
2. ¥ Asia
3. % Europe



4. % Antarctica

Question Number : 54 Question Id : 96794754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fa%) o1 To TST HRTET B

Options :

1. % 3BT

2.« TR[AI

3. % R

4. % eI

Question Number : 55 Question Id : 96794755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the lowest layer of the atmosphere?
Options :

1. ¥ Troposphere

2. # Thermosphere

3. % Mesosphere

4. % Stratosphere

Question Number : 55 Question Id : 96794755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qgHSd $f gay FHaeh IRd S It 82
Options :

1. ¢ &ivHsd

2. % gl aigHSd

3. % AEHSd

4. % gHAIHSA




Question Number : 56 Question Id : 96794756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The first tidal energy station was built in
Options :

1. # India

2. # China

3. ¥ France

4. ® Ttaly

Question Number : 56 Question Id : 96794756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y P URA IR FARTH T SR T ol
Options :

1. % HRd

2. % g

3. ¢ Big

4. ® gt

Question Number : 57 Question Id : 96794757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which type of soil, wheat thrives the best?

I. Alluvial clayey soil
II. Well drained loamy soil

Options :

1. % Only I

2.% Only II

3. % Both Iand II



4. % Neither [ nor 11

Question Number : 57 Question Id : 96794757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 5T YR 3T gaT H Fad 33T 77T 82

. dIhTgad Sclig Tal
11. g-3{uarigd gdc gal
Options :

1. % Had |

2. ¥ Had Il

3. % [ UGl

4. % qEIIATRIII

Question Number : 58 Question Id : 96794758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement regarding interior of the earth is correct?

I. The crust form only 1 percent of the volume of the earth.
II. The mantle forms 84 percent of the volume of the earth.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 58 Question Id : 96794758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHad I

2. % Had Il

3. ¢ 1 qUT I A
4. % qEIIATR I

Question Number : 59 Question Id : 96794759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the year ,*Simon Commission’ arrived in India.
Options :

1. % 1919

2.9 1928

3. % 1922

4. % 1925

Question Number : 59 Question Id : 96794759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y H “GISHT HHIR HIRd 31T T
Options :
1. * 1919
2.9 1928
3. % 1922
4. % 1925

Question Number : 60 Question Id : 96794760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Mahabharta and The Puranas were compiled by .



Options :

1. ¥ Vyas

2. # Tulsidas

3. % Kalidas

4. # Banabhatta

Question Number : 60 Question Id : 96794760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HETHRA 3R JRI0T SRT Yaferd fed my Q)

Options :
1. ¥ Y
2. % Jaiia™
3. % Dladla™
4. % dIUHg

General Awareness2
Group Number : 4
Group Id : 9679474
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness2
Section Id : 9679474



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9679474
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 96794761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kandariya Mahadeva temple dedicated to Shiva was constructed in 999 by a king of dynasty.
Options :

1. * Rajput

2. * Gupta

3. % Chandela

4. * Lodi

Question Number : 61 Question Id : 96794761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

319 & Tgfa o o= TR hefar Aeled iR BT FHfT 999 ST O U ol gIRT faka T |
Options :

1. % XoYd

2. ® Il

3. ¢ dcd

4. % Wt

Question Number : 62 Question Id : 96794762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding Babur is/are correct?

I. In 1526 Babur defeated Ibrahim Lodi.
II. In 1528 Babur defeated The Rajputs.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 62 Question Id : 96794762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR & e & Fulfa A I s aT sy I8 82

1. 1526 § 9T6R - 3o H dla] ol g ol
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Options :

1. % Had I
2. % HAd Il
3. QYT ISl
4. % qEIIATE I

Question Number : 63 Question Id : 96794763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Burhan-UL-Mulk Sa’adat Khan was appointed Subadar of Awadh in
Options :

1. # 1725

2.9 1722

3. % 1731



4, % 1733

Question Number : 63 Question Id : 96794763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R - 39 — Gob AGd @ Bl H 39y T YeiaR g foar 7 o)
Options :

1. % 1725

2.9 1722

3. % 1731

4. % 1733

Question Number : 64 Question Id : 96794764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country was first to launch an artificial satellite in the space?
Options :

1.% U.S. A

2. # Germany

3. * France

4. ¥ The Soviet Union

Question Number : 64 Question Id : 96794764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fdfer § qaY Ugd ST IUUE VATId B aTa o= I A7 Y12
Options :

1. % g T4 T

2. % S

3. % B

4. ¢ Gifqud gRg=



Question Number : 65 Question Id : 96794765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The BAFTA Awards are associated with which field?
Options :

1. # Music

2. ¥ Film and Television

3. # Journalism

4. % Poetry

Question Number : 65 Question Id : 96794765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T PR [ 87 A IS &2
Options :

1. ® G

2. ¢ flhed T Tefiider

3. % UABINGT

4. % Hiddl

Question Number : 66 Question Id : 96794766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is India’s rank on World Happiness Report 2021, published by Sustainable Development Solutions Network?
Options :

1. % 145

2. %130

3. % 140

4.+ 139

Question Number : 66 Question Id : 96794766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Td AT THILT Aeadh gRT YHTIRId It g™ I=Y RIS 2021 H YR BT XD 1 672
Options :

1. # 145

2. % 130

3. % 140

4. ¥ 139

Question Number : 67 Question Id : 96794767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has been written by Malala Yousafzai.
Options :
1. # Unfinished
2. ¥ We are Displaced
3. #® The Anarchy
4. % The Apology

Question Number : 67 Question Id : 96794767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT guwhels gRT fordl Tt j
Options :

1. % TS

2. ¢ di 3R fEqwige

3. # & 3T

4. % Sl urcroil

Question Number : 68 Question Id : 96794768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who has won the Nobel Peace Prize 20217
Options :

1. # Maria Ressa

2. % Dmitry Andreyevich

3. % Abdulrazak Gurnah

4. # David Julius

Question Number : 68 Question Id : 96794768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T i REBR 2021 fore= Sitar g2
Options :

1. % TR 4T

2. % feftEf udifaq

3. ¢ eGERISID TRATE

4. % Sfae Sfferay

Question Number : 69 Question Id : 96794769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been selected for Saraswati Samman 20207
Options :

1. % Sharankumar Limbale

2. % K. Siva Reddy

3. # Devdutt Pattanaik

4. % Khushwant Singh

Question Number : 69 Question Id : 96794769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2020 TR THH & fore ford g1 T g2



Options :
1. ¢ IRUGHR fofaral
2. % &, Raryg!

3. % ddad Uedd
4. % QRrdd Rig

Question Number : 70 Question Id : 96794770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following institute has developed a hydrogel as an alternative to corneal transplantation?
Options :

1. ¥ IIT, Hyderabad

2. % IIT, Chennai

3. #® IIT, Mumbai

4. % 1IT, Delhi

Question Number : 70 Question Id : 96794770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafifed & 3 b SR 3 wifiae HRRTU & Ried & w0 & ereg o Rehd v 2
Options :

1. ¢ 317838 7. YermaTg

2. % 315,318 8. A

3. % 3f3.3718.21. Has

4. % 3178 3118 1. faerdl

Question Number : 71 Question Id : 96794771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has acquired digital payments provider Bill Desk in August 2021?
Options :



1. # Paytm

2. % Pay U

3. # PhonePe
4. # Google Pay

Question Number : 71 Question Id : 96794771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 2021 ¥ forae fSfoTed YTa vard faerew® &1 iftrurgon fasar g2
Options :

1. ® OdieA

2.4 7Y

3. % B U

4. % TPAY

Question Number : 72 Question Id : 96794772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of the Indian constitution deals with Directive Principles of State Policy?
Options :

1. ¥ 1V

2.%V

3. % 11

4. % VII

Question Number : 72 Question Id : 96794772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TAUT BT S I UFT T BT =Aifa & TR dd I Hafed g2
Options :

1. ¥ 1V



2.%V
3.+ 10
4. %= VII

Question Number : 73 Question Id : 96794773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian constitution deals with equality of opportunity in matters of employment?
Options :

1. % 14

2. % 15

3.4 16

4. % 17

Question Number : 73 Question Id : 96794773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU BT D AT SE A Hare o (98T T SR &I 0T 9 HafUd g2
Options :

1. * 14

2. %15

3.4 16

4. % 17

Question Number : 74 Question Id : 96794774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Through which constitutional amendment act, Right to Property was deleted from the Fundamental Rights of the Indian constitution?
Options :

1. ¥ 44th

2. % 42nd

3. % 7th



4. % 36th

Question Number : 74 Question Id : 96794774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for e TRMEH & gRTHURT & ABR BT YR WAL & Hiferd BRI ¥ ger fear /o
Options :

1. ¥ 444l

2. % 424

3.% 74

4. % 364l

Question Number : 75 Question Id : 96794775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Article 76 of the Indian constitution deals with
Options :

1. # The President

2. # The Governor

3. # The Prime Minister

4. ¥ The Attorney General of India

Question Number : 75 Question Id : 96794775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WAyH ST egwg 76 ARl
Options :

1. % yufd

2. % IR

3. % JYTHAAT

4, ¥ HRd BT HETIGATE!



Question Number : 76 Question Id : 96794776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following team was NOT one of the semi-finalists in 2019 FIFA Women’s World Cup?
Options :

1. % England

2. # United States of America

3. % Netherlands

4. ¥ Germany

Question Number : 76 Question Id : 96794776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2019 BT Afga fay Hu § Fofafed o 9 o1F @ 9 Jdiws-iore gl o
Options :

1. % g7cfs

2. % TG oy 3ARPT

3. % Higxds

4. SHA

Question Number : 77 Question Id : 96794777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many gold medals did India win at the 2018 Asian Games?
Options :

1.¥ 15

2. %24

3. % 30

4, % 21

Question Number : 77 Question Id : 96794777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2018 TR Wal & YRd A fora Tl gee i
Options :

1.¥ 15

2. % 24

3. % 30

4. % 21

Question Number : 78 Question Id : 96794778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which two teams played in the finals of the IPL 2021?
Options :

1. # Mumbai Indians and Chennai Super Kings

2. ¥ Mumbai Indians and Sunrisers Hyderabad

3. # Chennai Super Kings and Sunrisers Hyderabad
4. ¥ Chennai Super Kings and Kolkata Knight Riders

Question Number : 78 Question Id : 96794778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3s. Ut Ta. 2021 & 19 T Q1 X Wl
Options :

1. % 4as 309 U 99 g b

2. % oS 3STT qUT TRIZoN geTeTe

3. % I8 YR [F IUT T RISoY §ar1aTg

4. ¢ 9% g [ qUT Hladhdr A8e e

Question Number : 79 Question Id : 96794779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following pair of sports — sportsperson is NOT correct?

I. Golf — Gurinder Sandhu
II. Golf — Arjun Atwal

Options :

1. ¥ Only I

2. % Only II

3. % Both I andII
4. # Neither I nor II

Question Number : 79 Question Id : 96794779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. Hadl
2. % HAd I
3. % [ QYT ISl
4. % qIAIAA

Question Number : 80 Question Id : 96794780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which events, did India win a medal in 2020 Summer Olympics (played in 2021)?
Options :

1. % Hockey and Shooting

2. % Badminton and Shooting

3. ¥ Wrestling and Weightlifting

4. % Wrestling and Shooting



Question Number : 80 Question Id : 96794780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 YTSHSBTEH 3D (2021 H Wa ) H YR A foo Wefe § g Sfiia?

Options :

1. % glep! quT g

2. % gsfifed qurygfen
3. ¢ PRI qUT URTAIAA
4, % BT AU YT
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Show Attended Group? :
Edit Attended Group? :
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Group Marks :
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Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 9679475
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 96794781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 17 6
What is the value of 22555 2
3 X35

Options :

1. # 8

2. % 1/8

3. % 16

4. ¥ 1/16

Question Number : 81 Question Id : 96794781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 17 51

LA

%ﬂ AT T 2?2
3 ™45

Options :

1. %8

2. % 1/8

3. % 16

4.9 1/16

Question Number : 82 Question Id : 96794782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



1
f420-3

i 7 L , then what is the value of n?

Options :
1. % -1
2. %2
3.1

4. % 2

Question Number : 82 Question Id : 96794782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 4712 = ¥ St n F AT T

&4 Zn—3

Options :
1. % —1
2. %2

3.¢ 1

4. % 2

Question Number : 83 Question Id : 96794783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is largest?
Options :

U6
w5



Question Number : 83 Question Id : 96794783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 o 91 9ad 98182

Options :

36

Question Number : 84 Question Id : 96794784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Highest Common Factor of two numbers is (1/7) of their Least Common Multiple. If the product of these two numbers is 448, then what is
the Least Common Multiple of these two numbers?

Options :



1. * 8
2. % 64
3. % 49
4. ¥ 56

Question Number : 84 Question Id : 96794784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1S BT HEH GHTIAS 3% TYTH JHIGE B (1/7) 81 TS 37 S AReATafl &1 UFHd 448 B, Al 37 g1 SRersi o1 agad
I T 22

Options :

1. %8

2. % 64

3. % 49

4.9 56

Question Number : 85 Question Id : 96794785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is that least number which when divided by each of the fractions (5/8), (13/15) and (11/13) gives a natural number as result in each case?
Options :

1. ¥ 715

2. % 615

3. % 143

4. % 65

Question Number : 85 Question Id : 96794785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 g IRe 31 | Ford fau 18 f345& (5/8), (13/15) AT (11/13) H ¥ Uades J fauTiord fed 91 R U fRufa & Ui d T Widias
I & U H UTd 12
Options :




1. ¥ 715
2. #® 615
3. % 143
4. % 65

Question Number : 86 Question Id : 96794786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After a discount of 30 percent an article is sold for Rs. 1330. What is the marked price of the article?
Options :

1. % Rs. 2000

2. % Rs. 1900

3. ¥ Rs. 2500

4. # Rs. 1500

Question Number : 86 Question Id : 96794786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 UTIRIG &1 B & S1e U avg dI 1330 ¥UY & 91 911l 5 | a5 BT 3ifd e 1 82
Options :

1. % 2000 30
2. ¢ 1900 3YY
3. % 2500 ¥0Y
4. % 1500 Y

Question Number : 87 Question Id : 96794787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 17 results is 50. If the average of first 9 results is 53 and that of the last 9 results is 61, then what will be the value of 9th result?
Options :

1. * 168



2.¥ 176
3. % 169
4. % 171

Question Number : 87 Question Id : 96794787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

17 GROIH &7 3 d 50 8| af T4 9 TROIE! &1 37 53 § qUT Sifad 9 uRomH! &1 3% 61 €, A 9 d TRUMH &7 91 &1 gRT?
Options :

1. % 168

2.% 176

3. % 169

4. % 171

Question Number : 88 Question Id : 96794788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following will have the highest discount percentage?
Options :

1. # Marked price = 1700 and Selling price = 1400

2. ¥ Marked price = 2200 and Selling price = 1700

3. % Marked price = 2800 and Selling price = 2400

4. ¥ Marked price = 1800 and Selling price = 1500

Question Number : 88 Question Id : 96794788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraforfaa 7 § fead ge ufawa siftreay grft
Options :

1. % 3ffcbd Ged = 1700 TUT faehd e = 1400
2. ¢ Sifdd G = 2200 9T fdehd Ted = 1700



3. % 3ifbd G = 2800 YT fAhd T = 2400
4, % 3ifdrd T = 1800 TUT fdshd el = 1500

Question Number : 89 Question Id : 96794789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If' y percent of y is 625, then what is the value of y?
Options :

1. % 230

2. % 240

3.9 250

4. % 260

Question Number : 89 Question Id : 96794789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe y BT y TR, 625 &, A y T HM R 52
Options :

1. % 230

2. % 240

3.9 250

4. % 260

Question Number : 90 Question Id : 96794790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an examination, A obtained 15 percent more marks than B and 25 percent more marks than C. The marks obtained by B are 1600. If the
maximum marks for each student is 2000, then what is the percentage marks scored by C?

Options :

1. # 74.2 percent
2. # 75.8 percent
3. % 71.1 percent



4. ¥ 73.6 percent

Question Number : 90 Question Id : 96794790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e |, A, B 15 Ufawid 3ifde 3 3R ¢ T 25 Ufa=ia 31 3ics UTd HaT g1 B §RTUT 37 1600 § | i T B & forg
3 ad 3 2000 &, Al C GRT U 3ich! o1 ufawrd fam g2

Options :

1. % 742 gfa=rd
2. % 758 gfa=rd
3. % 71.1 gfawrd
4. ¥ 73.6 Ufa=rd

Question Number : 91 Question Id : 96794791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student has appeared in two exams. He scored 240 marks in first exam out of 300 marks. If he got overall 60 percent marks, then how much
percent marks he had scored in second examination out of 150?

Options :

1. # 25 percent
2. % 30 percent
3. ¥ 20 percent
4. % 10 percent

Question Number : 91 Question Id : 96794791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP B &l THe H IUTRT gaT| ST Ugelt Iieq H 300 3 H F 240 3ich W | afe 3T Fd 60 Ua=rd 3ich v fohu 8, o gost
e T I8 150 B ¥ foaq Ufa=id sid e fahg g2

Options :

1. % 25 gfa=rd

2. % 30 gfa=a



3.« 20 Ufa=d
4. % 10 yfawrd

Question Number : 92 Question Id : 96794792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length and breadth of a cuboid are increased by 10 percent and 40 percent respectively. If its height is decreased by 15 percent, then what
will be percentage increase in the volume of cuboid?

Options :

1. # 35 percent
2. % 30.9 percent
3. % 32.4 percent
4. % 36 percent

Question Number : 92 Question Id : 96794792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS O B TS a1 AISTS DI ShHRT: 10 UTIRTA TUT 40 UTI=TA & S S § | AfE SHD! $HaTs B 15 U= I TS/l STl 5, o g1y
& 31d § fabd= ufa=rd &1 gfg gifie

Options :

1. % 35 yfc=rd

2. ¥ 30.9 Ufa=Id

3. % 32.4 Ufd=rd

4. % 36 Ufc=rd

Question Number : 93 Question Id : 96794793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohit buys an old bat for Rs. 1120 and spends Rs. 180 on its repairing. If he sells it for Rs. 1000, then what is the loss percentage?
Options :

1. ¥ 23.08 percent

2. % 33.33 percent



3. % 16.66 percent
4. % 30 percent

Question Number : 93 Question Id : 96794793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ%%qaﬁww1120wﬁﬁ@ﬂw%amlsowﬁ3¥rarﬁumau?@%fw%laﬁaaaﬁﬁlooomﬁéam%,a‘raﬁm
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Options :

1. ¢ 23.08 Uf=rd

2. % 3333 gfa=rd

3. % 16.66 Ufa=rd

4. % 30 gfaerd

Question Number : 94 Question Id : 96794794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of selling price to the cost price is 9 : 8. What is the profit percentage?
Options :

1. # 20 percent

2. ¥ 12.5 percent

3. % 13.5 percent

4. % 15 percent

Question Number : 94 Question Id : 96794794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3sha T 1 79 Yoo ¥ U 9 : 8 § 1 A1 Wfa=rd F1 g2
Options :

1. % 20 gfd=rd

2.+ 12.5 Ufa=rd



3. % 135 gfaed
4. % 15 yfaed

Question Number : 95 Question Id : 96794795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While selling a computer for Rs. 1875, a person suffered a loss of 25 percent. At what price he should have sold the computer to earn a profit of
20 percent?

Options :

1. # Rs. 3400
2. % Rs. 3000
3. % Rs. 3200
4. % Rs. 2800

Question Number : 95 Question Id : 96794795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HIGER B 1875 TUY T I WR T Afad Pl 25 UA=d Bt 81 Bl 81 20 UTI=Id &1 oy U R & foll I8 Hrgex &l ford
P R ST A1RY?

Options :

1. % 3400 30
2. ¥ 3000 9T
3. % 3200 390
4. % 2800 97U

Question Number : 96 Question Id : 96794796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader sold an article at profit of 20 percent. Had he bought that article at 50 percent less price and sold it at Rs. 100 less, then he would have
gained 100 percent. What is the cost price?

Options :
1. ¥ Rs. 500



2. % Rs. 600
3. # Rs. 400
4. * Rs. 420

Question Number : 96 Question Id : 96794796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AR = T I 1 20 URTd & A4 UR o1 | AT 98 39 a¥g 1 50 Ti=Td HH HHd R TGl 3R 39 100 ¥ HH H S9dT &, dl
I 100 U= &1 &Y ST 3 Yo o1 82

Options :

1. ¢ 500 0

2. % 600 3YY

3. % 400 3YY

4. % 420397

Question Number : 97 Question Id : 96794797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 25 percent of C is equal to 20 percent of D, then what is C : D?
Options :

1. ® 5:
2.9 4
3. % 4.
4. % 5:

o 3 Dn b~

Question Number : 97 Question Id : 96794797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& ¢ BT 25 UFARId, D % 20 Uf=Id & SRER &, Al C : D R 52
Options :

1.%5:4



2.9 4:5
3.% 4.7
4. % 5:8

Question Number : 98 Question Id : 96794798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of three numbers is 92. If the ratio of the first number to the second number is 4 : 3 and that of the second number to the third number is
2 : 3, then what is the second number?

Options :
1.¥ 24
2. % 32
3. % 36
4. % 4

Question Number : 98 Question Id : 96794798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Tremait 1 AN 92 B1 TS Ugel e T gER) TR F ST 4 : 3 § TUT R RS T T T F U 2 : 3§, 7 g} e
T E?

Options :

1.9 24

2. % 32

3. % 36

4. % 4

Question Number : 99 Question Id : 96794799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P starts a business with Rs. 6000. Q joins the business after 4 months with Rs. 12000. R joins the business for only 3 months with a sum of Rs.
18000. At the end of the year there was a profit of Rs. 4070. What is the combined profit share of Q and R?

Options :



1. ¥ Rs. 2750
2. % Rs. 2250
3. # Rs. 3500
4. * Rs. 2500

Question Number : 99 Question Id : 96794799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 6000 UY & 1Y Teh TG Y= HRAT 81 Q, 4 AR & d8 12000 FUT & 1Y YT ¥ JS ST ]| R, 18000 FUYY T AT & 1Y Had
3 TR o e e & R giaT 8 1 N & ofd | 4070 3T BT Y 3T 1| Q TUT R BT U o g am g2

Options :

1. ¢ 2750 30

2. % 2250 39T

3. % 3500 39U

4. % 2500 9Y

Question Number : 100 Question Id : 967947100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simple Interest received by a person in 5 years on a principal of Rs. 1200 is 160 percent of the principal. What is the rate of interest per annum?
Options :

1. * 16 percent

2. % 20 percent

3. % 32 percent

4. * 40 percent

Question Number : 100 Question Id : 967947100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Afad = 5 a6 H 1200 TUT & AT TR TAYT BT 160 T=Td JTURUT TS UT 61 § | 1S 1 a1 &= T 82

Options :



1. ® 16 Ufawd

2. % 20 Y=
3. ¢ 32 gfdwrd
4. % 40 giq=rd
Arithmetic Ability2
Group Number : 6
Group Id : 9679476
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability2
Section Id : 9679476
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9679476
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 967947101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A certain principal is kept at a certain rate of compound interest (compounded annually). The amount at the end of 2 years is Rs. 10240 and at the
end of 3 years is Rs. 16384. What is the principal?

Options :

1. # Rs. 3700
2. ¥ Rs. 4000
3. ¥ Rs. 4500
4. % Rs. 5500

Question Number : 101 Question Id : 967947101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3T GeeH $I Iohafg ST (@Me TaioH UR) &1 U MId o UR @M ol 51 2 94 o 3id § HSe 10240 U3 7473 I & ofd o
16384 30T g | AU FIT 52

Options :

1. % 3700 300

2. ¥ 4000 TYY

3. % 4500 ¥UY

4. % 5500 T

Question Number : 102 Question Id : 967947102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money becomes five times of itself at the rate of simple interest of 4 percent per annum. Which of the following statement(s) is/are
correct?

L. It will become 21 times of itself at the rate of 20 percent per annum on simple interest in same time period.
II. It will become 39 times of itself at the rate of 40 percent per annum on simple interest in same time period.

Options :

1. % Only I

2. % Only I

3. % BothITand IT



4. % Neither I nor 11

Question Number : 102 Question Id : 967947102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 gfar=rd ufd o Bt WrYRU ST &) | U MR WY 1 ufe A1 81 ot 8 | Fefiad # @ i @l sue I8 2182

1. 20 UTI=Id Ufd 98 &1 & I THH J0T 3l § 98 WIUR0T 7ol IR W &1 21 AT 81 S|
I1. 40 UT=Td Ui a9 & &R I THH G5 37afd T 98 WIURUN TS R W 1 39 T 81 e |

Options :

1. Had |

2. % Had II

3. % [ QYT
4. % qEIIATR I

Question Number : 103 Question Id : 967947103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The downstream speed of a boat is 24 km/hr. The speed of stream is 3 km/hr. What is the speed of the boat in upstream?
Options :

1. * 17.5 km/hr

2. % 16 km/hr

3. ¥ 18 km/hr

4. * 16.5 km/hr

Question Number : 103 Question Id : 967947103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & 3Jpcl U -1d P11 24 {5t /der B 1 a1 b 7f 3 fob 7t /deT 81 o1 3 wfdea 19 &t fd 82
Options :

1. % 17.5 .0t /der

2. % 16 fob 11 /eicT



3.+ 18 oo Al /xier
4. % 16.5 fb Ht et

Question Number : 104 Question Id : 967947104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A thief steals a car at 4:30 a.m. and drives it at a speed of 65 km/hr. The theft is discovered at 8.30 a.m. The owner of the car starts chasing the
thief, as soon as he discovers the theft, in another car with a speed of 85 km/hr. At what time will the owner reach the thief?

Options :

1. # 8:00 PM
2. % 8:30 PM
3. % 9:00 PM
4. % 9:30 PM

Question Number : 104 Question Id : 967947104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP IR 4:30 JaTg IR HR RIAT § 3R I 65 b 1t /der 31 i S =ardr 81 9 &7 8.30 Yale WR Udl Idl| SR b1 Hifere dR} &1 udl Ied
B UH SR BR | 85 b /&t &1 71 & 1Y IR 1 TST 31 L= BR ol g | JTferep [ IHT IR & IR Uga?

Options :

1. % 8:00 AWRT&d
2. % 8:30 AWM=
3. % 9:00 AURT&a
4. % 9:30 AWMMq

Question Number : 105 Question Id : 967947105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the speeds of Rajesh and Kapil is 5 : 8 respectively. To cover the same distance, Rajesh takes 3 hours more than Kapil. If the speed of
Rajesh is 20 km/hr, then which of the following statements is/are correct?

I. Sum of the time taken by Rajesh and Kapil is 13 hours.
II. Sum of the distance covered by Rajesh and Kapil is 360 km.



Options :

1. % Only I

2. % Only II

3. % Neither I nor II
4. % BothIand II

Question Number : 105 Question Id : 967947105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTOIRT TUT SHTUS B Tl BT ST HH: 5 ¢ 8 5| THM g3 a0 B & 1078 J[ore, HiUd ¥ 3 °e 31 ol ¢ | Al Ior=r &1 71fd 20 f. 7/
el g, o Fufafafa & 9 o1 9/ $U 981 8787

1. IS YT BT & gRT ford T8 THY BT AT 13 °e B
I1. JTOIRT 7T HIUS GRT T Bt T8 g3 BT AN 360 T 1T, B

Options :

1. ¥ Had I

2. % dhad Il

3. % qIBIIATRI I
4. % 1 QUGN

Question Number : 106 Question Id : 967947106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A alone can do a work in 120 days. If B is 40 percent less efficient than A, then B alone can complete the same work in how many days?
Options :

1. # 150 days

2. % 180 days

3. % 200 days

4. % 250 days

Question Number : 106 Question Id : 967947106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

gmwmﬁ 120 T & R a1 g1 TG B, A F 40 UIRId HH HRAGRA ¢, I B 3BT 34! BT B! fava fal H T B qdbell
)

Options :

1. % 150 faq
2. % 180 faq
3.+ 200 faA
4. % 250 faq

Question Number : 107 Question Id : 967947107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To complete a wall, P takes 25 percent more time than Q. If together they complete the wall in 20 days, then how much time will Q alone take to
complete it?

Options :

1. # 45 days
2. # 32 days
3. % 36 days
4. # 30 days

Question Number : 107 Question Id : 967947107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁﬁaﬁwaﬁgﬂmﬁﬁnQ@rzsmmwaﬁ%l e firadR 3 ffarR &1 20 foi # T ava §, A1 Q 31hal 389 W HA |
[ d-T JHY I?
Options :

1. % 45faq
2. % 3pfaq
3. ¢ 36 faA
4. % 30feT




Question Number : 108 Question Id : 967947108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S1, S2 and S3 can complete a work in 12 days, 18 days and 24 days respectively. They begin the work together but S1 leaves the work after 2
days and S3 leaves the work 8 days before the completion of the work. S2 has completed the remaining work alone. They received Rs. 3600 to
complete the work. What is the share of S2 from the total money?

Options :

1. ¥ Rs. 2400
2. % Rs. 1800
3. #* Rs. 2000
4. % Rs. 1600

Question Number : 108 Question Id : 967947108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S1, 82, TUT S3 TH B DI - 12 fad, 18 TG quT 24 fA H [ ax Thdl € 1 9 W1 AR &1 & oxd §, IR 2 fa ugyrd s1 vrd
B Gl 8 AU S3 B WRI e U 8 I3 gd w1 BIe a1 g1 S2 7 A B bl 81 QT ol § 1 I5 b1 TRT A o T 3600 FUY T
g $d YRR A S2 T fgwan | g2

Options :

1. ¢ 2400 T9

2. % 1800 T

3. % 2000 30

4. % 1600 39

Question Number : 109 Question Id : 967947109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the area of a square is 25 cm?, then what is the perimeter of the square?
Options :

1. * 5cm

2. % 10 cm

3. % 15cm



4. % 20 cm

Question Number : 109 Question Id : 967947109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe T ot b1 % d 25 T A2 8, O 97 T ufeATy o g2
Options :

1. % s

2. % 109

3% 159

4. 2071,

Question Number : 110 Question Id : 967947110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid cuboid whose sides are 5 cm, 10 cm and 20 cm is melted to form a new cube. What is the ratio between the total surface area of the
cuboid and that of the cube?

Options :
1. % 5:4
2. % 17:16
3. % 13: 11
4.97:6

Question Number : 110 Question Id : 967947110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 31 G- ot Yod s 9.1, 10 9.1 9u1 20 9.7, B, B! FUaaens T a1 99 S99 8 | 89TH 9T 99 & $dl g1 8% d &
CIEE IR IR

Options :

1. % 5:4

2.% 17:16

3.% 13: 11




4.4 7:6

Question Number : 111 Question Id : 967947111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Side of a solid cube is 14 cm. A largest cylinder is cut from this cube. What is the volume of the remaining solid?
Options :

1. % 848 cm?

2. % 1024 cm?

3. ¢ 588 cm’

4. % 2156 cm®

Question Number : 111 Question Id : 967947111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 3 G B! YT 14 . §1 ST T H Y Y9 981 97 PIel T 8 | AN 31 & Sa- 1 82
Options :

1. % 848 Q.13
2. % 1024 .13
3. ¢ 588 .13
4. % 2156 943

Question Number : 112 Question Id : 967947112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The radius of a solid sphere is 10.5 cm. Which of the following statement is correct regarding the sphere?

I. Three times the volume of the sphere is 14553 cm’.

II. Six times the curved surface area of the sphere is 8316 cm?.
Options :
l. % Only I



2. % Only II
3.4 BothIand II
4. % Neither I nor 11

Question Number : 112 Question Id : 967947112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3 MA ot B 10.5 A g1 3T MA & e & Fufaa d I s T sy 98 82

. el & SMaH T o AT 14553 9.3 B

I1. T & 956 JEIT & d &1 38 18316 TH .2 5
Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl

4. % FrAIATA

Question Number : 113 Question Id : 967947113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of pens of 5 different brands.

Brands Number of Pens
Bl 46
B2 34
B3 58
B4 22
B5 15

What is the average number of pens per brand?



Options :
1. % 37
2.9 35
3. % 43
4, % 45

Question Number : 113 Question Id : 967947113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 & 7S arferept 5 faft et & U Y TBT Y gl 2

EIRES deit T &AT
Bl 16
B2 34
B3 58
B4 22
BS 15
Ufd s 09 o1 3igd T 1 82
Options :
1. #® 37
2.% 35
3. % 43
4. % 45

Question Number : 114 Question Id : 967947114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of tyres of 5 different brands in a shop. Numbers of tyres are shown as a percentage of total number
of tyres of these 5 brands.



What is the ratio of number of B2 tyres and number of B5 tyres?
Options :

1. % 23:15

2.% 11:15

3.% 2:7

4.9 3 :4

Question Number : 114 Question Id : 967947114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= T T 9 o U g1 1 5 fafiis SiiST & <Rl &1 a1 &1 aRITdl 6 | TRRI &1 6B Bl S 5 SISl &b TRRI $I o I &b U=
& wu d e T g
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Options :

1. %23:15

2.% 11:15

3.%2:7

4.3 :4

Question Number : 115 Question Id : 967947115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of cups of 6 different types in a shop. The data is shown as the central angle made by the number of
cup of each type.



If the number of cups of T1 are 900, then what is the sum of number of cups of T4 and T6?
Options :
1. % 1800
2. % 1440
3. % 1320
4. % 1200

Question Number : 115 Question Id : 967947115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- fean a1 99 o T g # 6 fafid UR & Ul &t TS DI ST 6 | ST HI UAD YHR & HU B WA & GRT §1 TT et
BV P =Y H R TG
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Options :
1. ¢ 1800
2. % 1440
3. % 1320
4. % 1200

Question Number : 116 Question Id : 967947116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the expense of a family on 8 different expenditures. The expenditures are shown as the percentage of the total
expenses of the family.



The total expenditure on E1 and E3 is Rs. 910.
A = Sum of expenditures on E2, E4 and E6.

B = Sum of expenditures on E5, E7 and ES8.
What is the value of B — A?

Options :
1. % 24
2. % 132
3. % 47
4.0

Question Number : 116 Question Id : 967947116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 24

2. % 132

3. % 47

4.¥0

Question Number : 117 Question Id : 967947117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar chart given below shows the number of online tests taken by a candidate in 4 consecutive weeks.



120

105

0 35

Number of Online Tests

W1 W2 W3 W4
Weeks

What is the sum of the number of tests taken by the candidate in week W2 and W3 together?
Options :
1. ¥ 190
2. % 165
3. % 185
4. % 200

Question Number : 117 Question Id : 967947117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 190
2. % 165
3. % 185
4. % 200

Question Number : 118 Question Id : 967947118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of films released in a country in 6 consecutive years.



510 522

486 492

456
438

Number of Films Released

YL ¥2 ¥3 Y4 Y5 Y6

Years

What is the average number of films released per year?
Options :
1. % 464
2. % 432
3. ¥ 484
4. % 496

Question Number : 118 Question Id : 967947118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # 464
2. % 432
3.9 484
4. % 496

R $r a2y

Question Number : 119 Question Id : 967947119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the average weight of students in 6 classes of a school.



o 42 B
32 10

e

Average weight of students

cl C2 (C3 C4 (&5 Cé6

Classes

Which of the following statement is correct?

I. Difference between the average weight of C4 and C6 is 25.
II. Average weight of C2 is 20 percent more than the average weight of C1.
III. Average weight of C3 is less than C1 but more than C6.

Options :

1. % Iand II
2. % Only III
3. % Il and III
4. % Jand III

Question Number : 119 Question Id : 967947119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 120 Question Id : 967947120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar chart given below shows the number of towers and the number of flats per tower in 5 different societies.
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Which of the following statement is correct?

I. Number of towers in S2 are 24 percent of the total number of flats in S3.
II. A = total number of flats in S4 and S5. B = total number of towers in S1 and S3. A — B = 82.
III. Total number of flats in S4 are 15 less than the total number of flats in S2.

Options :

1. * Only I
2. % Tand III
3. % Only II
4. % JTand II

Question Number : 120 Question Id : 967947120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 121 Question Id : 967947121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The President and (1)/the Secretary is (2)/coming to the function. (3)/No error (4)
Options :

1. * The President and

2. ¥ the Secretary is

3. * coming to the function.

4. % No error

Question Number : 121 Question Id : 967947121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



The President and (1)/the Secretary is (2)/coming to the function. (3)/No error (4)
Options :

1. # The President and

2. ¥ the Secretary is

3. # coming to the function.

4. % No error

Question Number : 122 Question Id : 967947122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Statistics are a (1)/good subject if (2)/studied properly. (3)/No error (4)
Options :

1. ¥ Statistics are a

2. # good subject if

3. % studied properly.

4. # No error

Question Number : 122 Question Id : 967947122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Statistics are a (1)/good subject if (2)/studied properly. (3)/No error (4)
Options :

1. ¥ Statistics are a

2. # good subject if

3. # studied properly.

4, % No error

Question Number : 123 Question Id : 967947123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Neither the ministers (1)/ nor the manager were (2)/ready for the party. (3)/No error (4)
Options :

1. % Neither the ministers

2. ¥ nor the manager were

3. % ready for the party.

4. % No error

Question Number : 123 Question Id : 967947123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Neither the ministers (1)/ nor the manager were (2)/ready for the party. (3)/No error (4)
Options :

1. # Neither the ministers

2. ¥ nor the manager were

3. % ready for the party.

4. % No error

Question Number : 124 Question Id : 967947124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Alcohol is effective (1)/on killing different (2)/types of microbes. (3)/No error (4)
Options :

1. # Alcohol is effective

2. % on killing different

3. # types of microbes.



4. % No error

Question Number : 124 Question Id : 967947124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Alcohol is effective (1)/on killing different (2)/types of microbes. (3)/No error (4)
Options :

1. # Alcohol is effective

2. % on killing different

3. # types of microbes.

4, % No error

Question Number : 125 Question Id : 967947125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I promise you that me (1)/will never leave your (2)/side in tough situations. (3)/No error (4)
Options :

1. ¥ I promise you that me

2. # will never leave your

3. % side in tough situations.

4. % No error

Question Number : 125 Question Id : 967947125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I promise you that me (1)/will never leave your (2)/side in tough situations. (3)/No error (4)
Options :



1. ¥ I promise you that me
2. # will never leave your
3. % side in tough situations.
4. % No error

Question Number : 126 Question Id : 967947126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence.

The nation is still struggling (to made) sense of the threat and the accompanying economic calamity.
Options :

1. ¥ to make

2. * in making

3. % in made

4. % No improvement

Question Number : 126 Question Id : 967947126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence.

The nation is still struggling (to made) sense of the threat and the accompanying economic calamity.
Options :

1. ¥ to make

2. % in making

3. # in made

4. ¥ No improvement

Question Number : 127 Question Id : 967947127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence.



Even the healthiest people have a (hard time been) isolated for long periods.

Options :

1. # hardly time being
2. % hard time being
3. # hardly time been

4. ¥ No improvement

Question Number : 127 Question Id
Orientation : Vertical

: 967947127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence.

Even the healthiest people have a (hard time been) isolated for long periods.

Options :

1. # hardly time being
2. % hard time being
3. % hardly time been

4. ¥ No improvement

Question Number : 128 Question Id
Orientation : Vertical

: 967947128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence.

The Census is a massive exercise, (which had involves) mass contact and diversion of resources.

Options :

1. # who involve

2. % which had involved
3. % which involves

4. % No improvement

Question Number : 128 Question Id

: 967947128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence.

The Census is a massive exercise, (which had involves) mass contact and diversion of resources.
Options :

1. ¥ who involve

2. # which had involved

3. ¥ which involves

4. ¥ No improvement

Question Number : 129 Question Id : 967947129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence.

I will try and finish up my taxes tonight and send them in because they are (due at midnight).
Options :

1. # due on midnight

2. # left for midnight

3. # due in midnight

4. ¥ No improvement

Question Number : 129 Question Id : 967947129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence.

I will try and finish up my taxes tonight and send them in because they are (due at midnight).
Options :

1. # due on midnight

2. # left for midnight

3. % due in midnight



4. ¥ No improvement

Question Number : 130 Question Id : 967947130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence.

The unexpected suspension of the operation (open a fresh) window for reconciliation.
Options :

1. ¥ has opened a fresh

2. % open the fresh

3. * have open a fresh

4. % No improvement

Question Number : 130 Question Id : 967947130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence.

The unexpected suspension of the operation (open a fresh) window for reconciliation.
Options :

1. ¥ has opened a fresh

2. # open the fresh

3. * have open a fresh

4. ¥ No improvement

Question Number : 131 Question Id : 967947131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

In the daytime, I prefer coffee orange juice.
Options :



1. # than
2.% to
3. % for

4. % on

Question Number : 131 Question Id : 967947131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

In the daytime, I prefer coffee  orange juice.
Options :

1. # than

2.¥ to

3. % for

4. % on

Question Number : 132 Question Id : 967947132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Teacher as well as parents_ taking part in the game.
Options :

1. ¥ is

2. % are

3. * were

4. % have

Question Number : 132 Question Id : 967947132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



Teacher as well as parents  taking part in the game.
Options :

1. ¥ is

2. % are

3. % were

4. ® have

Question Number : 133 Question Id : 967947133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Fuels in the living landscape pile up and rearrange
Options :

1. # itself

2. ¥ themselves

3. % oneself

4. # himself

Question Number : 133 Question Id : 967947133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Fuels in the living landscape pile up and rearrange
Options :

1. # itself

2. ¥ themselves

3. % oneself

4., % himself

Question Number : 134 Question Id : 967947134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

During winter when the air is less humid pure alcohol will ~ too quickly.
Options :

1. % nullify

2. ¥ evaporate

3. ¥ materialize

4. % signify

Question Number : 134 Question Id : 967947134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

During winter when the air is less humid pure alcohol will  too quickly.
Options :

1. % nullify

2. ¥ evaporate

3. % materialize

4. ® signify

Question Number : 135 Question Id : 967947135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Many organizations see urban agriculture asawayto  food security.
Options :

1. ¥ enhance

2. % curb

3. # violate



4. * exempt

Question Number : 135 Question Id : 967947135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Many organizations see urban agriculture as away to  food security.
Options :

1. ¥ enhance

2. % curb

3. % violate

4. % exempt

Question Number : 136 Question Id : 967947136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

A lot of times we hear

P. this actor says he has no regrets
Q. from actors that they regret

R. doing all this while, but

S. the kind of roles they have been

Options :

1. # SRQP
2. ¥ QSRP
3. % RSPQ
4. % RPSQ

Question Number : 136 Question Id : 967947136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.



A lot of times we hear

P. this actor says he has no regrets
Q. from actors that they regret

R. doing all this while, but

S. the kind of roles they have been

Options :

1. # SRQP
2. ¥ QSRP
3. ¥ RSPQ
4. # RPSQ

Question Number : 137 Question Id : 967947137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

The concept of

P. taught in the class

Q. revise that was being
R. homework began so
S. that the pupils could

Options :

1. % RPQS
2. % QSRP
3. ¥ RSQP
4. % SQRP

Question Number : 137 Question Id : 967947137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

The concept of
P. taught in the class



Q. revise that was being
R. homework began so
S. that the pupils could

Options :

1. % RPQS
2. % QSRP
3. ¥ RSQP
4. % SQRP

Question Number : 138 Question Id : 967947138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. Others are part of the Earth system but external to the atmosphere.

Q. Climate is influenced by many factors that operate at timescales ranging from hours to millions of years.
R. Still others involve interactions between the atmosphere and other components of the Earth system.

S. Many of the causes of climate change are external to the Earth system.

Options :

1. # SPQR
2. ¥ QSPR
3. % QPSR
4. % SQRP

Question Number : 138 Question Id : 967947138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. Others are part of the Earth system but external to the atmosphere.

Q. Climate is influenced by many factors that operate at timescales ranging from hours to millions of years.
R. Still others involve interactions between the atmosphere and other components of the Earth system.

S. Many of the causes of climate change are external to the Earth system.



Options :

1. # SPQR
2. ¥ QSPR
3. ¥ QPSR
4. ¥ SQRP

Question Number : 139 Question Id : 967947139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Miniature
Options :

1. # Paranoid
2. % Paragon
3. % Heavy
4. ¥ Tiny

Question Number : 139 Question Id : 967947139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Miniature
Options :

1. # Paranoid
2. % Paragon
3. # Heavy
4. ¥ Tiny

Question Number : 140 Question Id : 967947140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that means the same as the given word.

Supervene
Options :

1. # Precede
2. ¥ Follow
3. % Disallow
4. # Tedious

Question Number : 140 Question Id : 967947140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Supervene
Options :

1. # Precede
2. ¥ Follow
3. # Disallow
4. % Tedious

General English2
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Question Number : 141 Question Id : 967947141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Progressive
Options :

1. ¥ Forward
2. % Aggressive
3. % Retarded

4. % Repressive

Question Number : 141 Question Id : 967947141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Progressive
Options :



1. ¥ Forward
2. ® Aggressive
3. # Retarded

4. # Repressive

Question Number : 142 Question Id : 967947142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Tramp
Options :

1. ¥ Hover
2. # Hustler
3. % Cheat
4. % Pilgrim

Question Number : 142 Question Id : 967947142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Tramp
Options :

1. ¥ Hover
2. # Hustler
3. % Cheat
4. % Pilgrim

Question Number : 143 Question Id : 967947143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Dishevelled
Options :

1. # Marked
2. # Distance
3. ¥ Rumple
4. ¥ Adjust

Question Number : 143 Question Id
Orientation : Vertical

: 967947143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Dishevelled
Options :

1. # Marked
2. # Distance
3. % Rumple
4. ¥ Adjust

Question Number : 144 Question Id
Orientation : Vertical

: 967947144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Unruly
Options :

1. # Insured
2. ¥ Tractable
3. % Unsure
4. % Covered

Question Number : 144 Question Id

: 967947144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Unruly
Options :

1. * Insured
2. ¥ Tractable
3. # Unsure

4. % Covered

Question Number : 145 Question Id : 967947145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Fonndant

2. # Fondent

3. % Fondant

4. % Foundent

Question Number : 145 Question Id : 967947145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Fonndant

2. # Fondent

3. % Fondant

4. # Foundent

Question Number : 146 Question Id : 967947146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Siesmologist

2. # Seissmologist

3. % Siessmologist

4. ¥ Seismologist

Question Number : 146 Question Id : 967947146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Siesmologist

2. # Seissmologist

3. % Siessmologist

4. ¥ Seismologist

Question Number : 147 Question Id : 967947147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Primitive

2. # Preimitive

3. # Priemitive

4. % Primitieve

Question Number : 147 Question Id : 967947147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Primitive

2. # Preimitive

3. # Priemitive

4. % Primitieve

Question Number : 148 Question Id : 967947148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Pettrifying

2. % Petrifying

3. % Petrifing

4. % Petrrifying

Question Number : 148 Question Id : 967947148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Pettrifying

2. ¥ Petrifying

3. # Petrifing

4. # Petrrifying

Question Number : 149 Question Id : 967947149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



To show a clean pair of heels
Options :

1. % To be in good company
2. ® To be hygienic

3. % To run off

4. ¥ To reveal the truth

Question Number : 149 Question Id : 967947149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To show a clean pair of heels
Options :

1. # To be in good company
2. # To be hygienic

3. ¥ To run off

4. # To reveal the truth

Question Number : 150 Question Id : 967947150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Green thumb

Options :

1. # To worship natural plants

2. # To have an artistic inclination
3. % To be envious of others’ fortune

4. ¥ An unusual ability to make plants grow

Question Number : 150 Question Id : 967947150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Green thumb

Options :

1. #® To worship natural plants

2. # To have an artistic inclination
3. # To be envious of others’ fortune

4. ¥ An unusual ability to make plants grow

Question Number : 151 Question Id : 967947151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To be above board

Options :

1. ¥ To be honest in any business

2. # To be in a calming situation

3. % To get stranded in a dangerous place

4. ® To ask everyone about their opinion

Question Number : 151 Question Id : 967947151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To be above board

Options :

1. ¥ To be honest in any business

2. # To be in a calming situation

3. # To get stranded in a dangerous place

4. % To ask everyone about their opinion



Question Number : 152 Question Id : 967947152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
That which makes it difficult to recognize the presence of something

Options :

1. # Pretence

2. % Camouflage
3. % Cover

4, % Mask

Question Number : 152 Question Id : 967947152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
That which makes it difficult to recognize the presence of something

Options :

1. # Pretence

2. % Camouflage
3. % Cover

4, % Mask

Question Number : 153 Question Id : 967947153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
A figure of speech in which two unrelated things are compared to each other

Options :

1. # Semblance
2. % Trony

3. % Simile

4. % Annotation



Question Number : 153 Question Id : 967947153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
A figure of speech in which two unrelated things are compared to each other

Options :

1. # Semblance
2. % TIrony

3. % Simile

4. % Annotation

Question Number : 154 Question Id : 967947154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Book giving information about every branch of knowledge

Options :

1. # Dissertation
2. % Atlas

3. % Thesis

4. ¥ Encyclopedia

Question Number : 154 Question Id : 967947154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Book giving information about every branch of knowledge

Options :

1. # Dissertation
2. % Atlas

3. % Thesis



4. ¥ Encyclopedia

Question Number : 155 Question Id : 967947155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
A person who is talkative

Options :

1. ¥ Garrulous
2. % Brazen
3. * Brawny

4. % Wanton

Question Number : 155 Question Id : 967947155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
A person who is talkative

Options :

1. ¥ Garrulous
2. * Brazen
3. * Brawny

4. % Wanton
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Question Id : 967947156 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.
A difference in opinions, values, attitudes and lifestyle among people of different ages is called 'generation gap'. Due to these differences, people
belonging to different generations find themselves unable to relate to each other. This communication gap between successive generations is not



a new phenomenon. Parents and children across the world have been facing this problem. Due to fast-paced modern lifestyles, parents and
children hardly find time together. The children, thus unable to express their thoughts and ideas to their parents, turn to friends for advice who are
as inexperienced as they are.

Today's children are born into a competitive world and have a struggle to get everything. Many a time their true potential gets overshadowed in
the rat race. Parents- burdened by the expectations of the society- end up forcing certain subjects and careers and lives that their parents have
chosen for them, children are left lost and confused. Parents, on the other hand, feel that in this rapidly changing society where everyone is so
self-centered, it is their duty to protect their children. Parents tend to feel that their children require guidance. This cannot be denied. But their
constant monitoring makes children feel oppressed and they tend to turn rebellious.

It is essential for parents to talk to their children and treat them as individuals. To be forever treated as a child can be irritating and sometimes
even humiliating. Children, in turn, must reciprocate with due respect and attention. Matters such as career, lifestyle and sensitive issues like
freedom of choice of friends must be dealt with carefully and with maturity. Love and understanding are the best antidotes to this ever-widening
generation gap. Only then will children look up to their parents and parents will not be burdened with their guilt of not being there for their
children in their hour of need. In this way the generation gap can at least be narrowed, if not completely filled.

Sub questions

Question Number : 156 Question Id : 967947157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The primary focus of this passage is on which of the following?
Options :

1. # How generation gap is viewed by children

2. % How generation gap is viewed by parents

3. % Generation gap between adults and children

4. ¥ How to fill the generation gap

Question Number : 157 Question Id : 967947158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the sentence from the last paragraph, “In this way the generation gap can at least be narrowed, if not completely filled” mean?
Options :

1. ¥ That generation gap is now narrow and can be narrowed further through cooperation.

2. % That generation gap can be wholly filled if the children are willing to work towards a common goal.

3. # That generation gap can never be managed.

4. ¥ That generation gap can never be entirely reduced but can be lessened to an extent through cooperation.



Question Number : 158 Question Id : 967947159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, how generational gap can be tackled in the best way?
Options :

1. ¥ Through love and understanding.

2. # Through irregular and consistent communication.

3. # By letting both kids and parents have a say in major life decisions.

4. % By hoping that the gap will be eventually filled through the passage of time.

Question Number : 159 Question Id : 967947160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statements is incorrect?

Options :

1. # A difference in opinions, values, attitudes and lifestyle among people of different ages is called 'generation gap'.
2. ¥ Constant monitoring makes children feel protected and they tend to turn rebellious.

3. # Parents tend to feel that their children require constant guidance.

4. % Parents and children across the world have been struggling with generation gap.

Question Number : 160 Question Id : 967947161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word means the same as ‘overshadowed’?
Options :

1. # Rebellious

2. % Expose

3. % Dulled

4. # Destroyed

Question Id : 967947156 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (156 to 160)



Read the following information carefully and answer the given questions.

A difference in opinions, values, attitudes and lifestyle among people of different ages is called 'generation gap'. Due to these differences, people
belonging to different generations find themselves unable to relate to each other. This communication gap between successive generations is not
a new phenomenon. Parents and children across the world have been facing this problem. Due to fast-paced modern lifestyles, parents and
children hardly find time together. The children, thus unable to express their thoughts and ideas to their parents, turn to friends for advice who are
as inexperienced as they are.

Today's children are born into a competitive world and have a struggle to get everything. Many a time their true potential gets overshadowed in
the rat race. Parents- burdened by the expectations of the society- end up forcing certain subjects and careers and lives that their parents have
chosen for them, children are left lost and confused. Parents, on the other hand, feel that in this rapidly changing society where everyone is so
self-centered, it is their duty to protect their children. Parents tend to feel that their children require guidance. This cannot be denied. But their
constant monitoring makes children feel oppressed and they tend to turn rebellious.

It is essential for parents to talk to their children and treat them as individuals. To be forever treated as a child can be irritating and sometimes
even humiliating. Children, in turn, must reciprocate with due respect and attention. Matters such as career, lifestyle and sensitive issues like
freedom of choice of friends must be dealt with carefully and with maturity. Love and understanding are the best antidotes to this ever-widening
generation gap. Only then will children look up to their parents and parents will not be burdened with their guilt of not being there for their
children in their hour of need. In this way the generation gap can at least be narrowed, if not completely filled.

Sub questions

Question Number : 156 Question Id : 967947157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The primary focus of this passage is on which of the following?
Options :

1. * How generation gap is viewed by children

2. % How generation gap is viewed by parents

3. % Generation gap between adults and children

4. ¥ How to fill the generation gap

Question Number : 157 Question Id : 967947158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the sentence from the last paragraph, “In this way the generation gap can at least be narrowed, if not completely filled” mean?
Options :

1. # That generation gap is now narrow and can be narrowed further through cooperation.

2. % That generation gap can be wholly filled if the children are willing to work towards a common goal.

3. # That generation gap can never be managed.



4. ¥ That generation gap can never be entirely reduced but can be lessened to an extent through cooperation.

Question Number : 158 Question Id : 967947159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, how generational gap can be tackled in the best way?
Options :

1. ¥ Through love and understanding.

2. # Through irregular and consistent communication.

3. % By letting both kids and parents have a say in major life decisions.

4. #% By hoping that the gap will be eventually filled through the passage of time.

Question Number : 159 Question Id : 967947160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statements is incorrect?

Options :

1. # A difference in opinions, values, attitudes and lifestyle among people of different ages is called 'generation gap'.
2. ¥ Constant monitoring makes children feel protected and they tend to turn rebellious.

3. % Parents tend to feel that their children require constant guidance.

4. ® Parents and children across the world have been struggling with generation gap.

Question Number : 160 Question Id : 967947161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word means the same as ‘overshadowed’?
Options :

1. #® Rebellious

2. % Expose

3. % Dulled

4. ® Destroyed
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % 9a3¢l
2. ¢ Falgl
3. % qdIgT
4. % aQ!

Question Number : 161 Question Id : 967947162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faq 7T wrect 1 HfY 1 BT

dd+ $el
Options :
1. ® dddel
2. ¢ qaigl
3. % Fdrgr
4. % 991

Question Number : 162 Question Id : 967947163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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i

Options :

1. % o+ Tyd
2. o + Uyd
3. % T + S
4. % ST+ W

Question Number : 162 Question Id : 967947163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fau e vrsg @) TfY fawdg Fifom)
i

Options :

1. % I+ uyd
2. S + Uyd
3. % T + S
4. % ol + Uyd

Question Number : 163 Question Id : 967947164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T 1o & IUT Fd FIRTY
foREpR

Options :
1. % dR
2. % fd
3. % foR
4. ¢ Ry

Question Number : 163 Question Id : 967947164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw 7 wrsg # IuT Fra BT
foR

Options :
1. % PR
2. % fa
3. % fR
4. ¢ fRY



Question Number : 164 Question Id : 967947165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFroafafed o weal & O S 91 Tgsife TH™ $T 3aTex0 81 87
Options :

1. % Hgidl&

AR RINIEE]

3. % el

4. ¥ Bdi®

Question Number : 164 Question Id : 967947165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad o Srsal & 9 S 91 Sgsilfe TN &I 3al6R0 Tl 67
Options :

1. % gg¥diéd

2. % INIMEA

3. % el

4. ¥ Bdl®

Question Number : 165 Question Id : 967947166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforRed o wrsal # @ S I SoIaras T BT IEE0 T8l 82
Options :

1. % UgId

2. % UMt

3. % Tidd

4. ¢ Id




Question Number : 165 Question Id : 967947166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed o Wreal & A S 91 Sodarad 311 1 3aTerl Tal o7
Options :

1. % Ugrd

2. % Ut

3. % Gidd

4. ¥ d

Question Number : 166 Question Id : 967947167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3T
Options :

1. % QM0
2. % fRre
3. % TRYDT
4.« AT

Question Number : 166 Question Id : 967947167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4, ¢ 3Tl

Question Number : 167 Question Id : 967947168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % ¢l
2. % HIdl
3. % 3fdt
4, ¢ 3T

Question Number : 167 Question Id : 967947168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %
2. % HIdT
3. % 3fdt
4. AHHI

Question Number : 168 Question Id : 967947169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 168 Question Id : 967947169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 169 Question Id : 967947170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ YHy
2. % AfeH
3. % g
4, % HE

Question Number : 169 Question Id : 967947170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ YHy
2. % AfeH
3. % g
4. % HE

Question Number : 170 Question Id : 967947171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 9%

2.9 RYd
3. % 0d

4, % ARG

Question Number : 170 Question Id : 967947171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 9%

2. % QMYd
3. % Ud

4, % FqRAH

Question Number : 171 Question Id : 967947172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 3fdarat
2. # fagmaff

3. % 3IYHIE!
4. % ¥y

Question Number : 171 Question Id : 967947172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T arIiRT & foTu Ifd Wsg &1 99— Hifow|

T & GHIU IGHR AT B aral
Options :

1. ¢ 3idard!

2. % fogmdf

3. % JfIYHar!

4. % 1R

Question Number : 172 Question Id : 967947173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T e T &1 &Y 31 1 BT
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Options :

1. % IRASI-ITA
2. % Q1%

3. ¢ JRAS-TRIH



4. % -l

Question Number : 172 Question Id : 967947173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ISl
2. % IAIXH

3. ¢ IRS-UYH
4. % TgA-Hat

Question Number : 173 Question Id : 967947174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafiad Trsal § ¥ Y IaiH! o1 98- HIoTY |
Options :

1. ¢ g

2. % TRIq

3. % URqfug

4. % TR

Question Number : 173 Question Id : 967947174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad weal & T Y aaH1 &1 999 ST
Options :

1. ¢ ORJfa

2. % QR



3. % aRqfud
4. % TR

Question Number : 174 Question Id : 967947175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafoRed Weg gl & § &1 A1 Weg g T 72
Options :

1. ¢ TRd-TRd

2. % BT

3. % qiad-sfcand

4. % H9-WYg

Question Number : 174 Question Id : 967947175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ TRA-IRd

2. % BT

3. % gidd-sfaard

4. % H9-Wg

Question Number : 175 Question Id : 967947176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 175 Question Id : 967947176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 176 Question Id : 967947177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TR

2. % Y

3. ¥ JHGBd

4. % A/

Question Number : 176 Question Id : 967947177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TROd

2. % §Yd

3. ¢ IHDA

4. % Fred

Question Number : 177 Question Id : 967947178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TG
2. % TR
3. ¢ TERE
4. % Iyt

Question Number : 177 Question Id : 967947178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % T
2. % TR
3. ¢ ARG
4. % It



Question Number : 178 Question Id : 967947179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 178 Question Id : 967947179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # Yol

2. % Hiquol

3. 3[4

4. ® Yddolq
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Question Number : 179 Question Id : 967947180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % DI
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Question Number : 180 Question Id : 967947181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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3.« gg A @! At 3R U 91d FaT et AR

4. % QAT 3R 30 I FATS |

Question Number : 181 Question Id : 967947182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 1T 9TRT T Y e TR T Dol |

gg Jd Jd 37U 91 91 Tt A

Options :

1. % 59 g8 U et At 99 30T 919 9a1 Wi A

2. % g U d1d da1 g1 At Hifes 98 A @t At
3. g8 A et At IR 37U &1 o1 38T A

4. % QAT 3R U I IS |

Question Number : 182 Question Id : 967947183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU T 9190 &1 9/ J1d BIfY|
AT Tielf Y U AT B |

Options :

1. ¢ Hqard
2. % HHA
3. % YTqdTH

4. % 3fbqary




Question Number : 182 Question Id : 967947183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 71T 9T &1 9T=" J1d HifoTT|
AT Tielf Y U AT B

Options :

1. ¢ Hqard
2. % HHATH
3. % YIgarey

4. % PHar

Question Number : 183 Question Id : 967947184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feU U 9190 &1 HTd J1d DI |

NERIGIRILIT

Options :

1. % JYTY Yfasad T
2. ¢ QY Yidwd S1d
3. ® iy yddld

4. % gIHHE BT

Question Number : 183 Question Id : 967947184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU U gTag &1 BT J1d IO |

S T IR |
Options :
1. % YT Hidwd HT1ad




2.« T Hidd H1d
3. % Hfe™ YdoTd
4. % gIHE BTA

Question Number : 184 Question Id : 967947185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad o ¥ oF 91 a1 e U o1 3aerul T8 62
Options :

1. ¢ fOdToit AT SRITR UG & |

2. % FAUGH B WA

3. % A Tl T

4. % Y1 47 @ 3

Question Number : 184 Question Id : 967947185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad o @ &1 a1 a1 A vef o1 Iareru T8l 82
Options :

1. ¢ TSl AT SRIIR Ugd & |

2. % SAACH A WAE &

3. % A= T T g

4. % Y1 oA foran g

Question Number : 185 Question Id : 967947186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 1o ) gfy 19 FITT
3T faened ot B |

Options :



1. ® dpari® gha
2. v Ffgrnds gia
3. % S g

4. % A JI®d g

Question Number : 185 Question Id : 967947186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 919 ) gy 1 I
3T faeTed ot B |

Options :

1. % Foharde g
2. ¢ Rfgrds gia
3. % 3T gf

4. % g qEd g

Question Number : 186 Question Id : 967947187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § Q o 91 3 T a1 IS8R0 el 82
Options :

1. % dg

2. % DI

3.%9

4. ¥ JH

Question Number : 186 Question Id : 967947187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiRad o @ ©F 1 3= T 9T 61 ISTeR0 T8l /2




Options :

Question Number : 187 Question Id : 967947188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fau U IR faweal & §, 39 fawen &1 997 & 5 fou U geTak & 31 ol Yd9% U § ogad Rl g |

NINEKIGH
Options :

1. % {al giq Q-1
2. ¢ ST ARA

3. % faamTare
4. # DI d4-T

Question Number : 187 Question Id : 967947188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTark & 31 ol Ia9% U I oJad HRdl ¢ |

NINKCRIGIH
Options :

1. % {al giq gl
2. ¢ SHTHRAT

3. % faAmT e
4, % PO d-l

Question Number : 188 Question Id : 967947189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fraferiad ve , fou 0 aR fawedl & 9, 39 fadmen &1 997 & S fou U geTark & 31 ol Ia9% U § oJad HRal ¢ |
FHI IR FE A ST

Options :

1. ¥ JUHR B 96 H $& A DI 331 7 HAT|

2. % B UR™ HAT|

3. % fAEH A a1 B YT HRAT
4. % JUHR HRh HU Y g =1 =i

Question Number : 188 Question Id : 967947189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, fau U IR faweat & ¥, 39 fawen &1 997 & 5 fou U geTak & 31 ol Id9% U § odad Rl g |
P IR HUH I

Options :

1. ¥ JUBR B 96l H $& o DI 331 7 BT

2. % BT YR BT

3. % S T <1 ) I BT
4. % JUHR Fb HU J gH! U1 71T

Question Number : 189 Question Id : 967947190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 § Iuged faR1 forg &1 99+ sifou|

ST UTed ¥Hg R Ugd Y|
Options :

1. % faaror

2. % DIYH

3. ¥ ddaq




4. ® go®

Question Number : 189 Question Id : 967947190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T 9Ty B Iugend AR forg o1 9= sifog |

ST UTed YWY R Ugd Y|
Options :

1. % faqarur

2. % DIYH

3.9 g

4. % gl

Question Number : 190 Question Id : 967947191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, f3T T IR geraRl # 9, 39 fadmed &1 9a &< S fou T4 areg & 31 & 99y ®u 3 ogad w1 7 |
Ad RR R @@

Options :

1. ¢ GG Yfsiehe gl
2. % BT W I ga !
3. % gUd gl

4. ® I O USl

Question Number : 190 Question Id : 967947191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ve ), fau U IR GeTari # 9, 39 fadwhed &1 7o &< S fou T8 argd & 31 &) 949 U J ogad w1 ¢ |
Ad RR R Qe




Options :

1. ¢ g 9fAdhe il
2. % BT W Y gl
3. % gUd gl

4. % TSI UHI gSAl

Question Number : 191 Question Id : 967947192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw U g & forw I Apifed o1 T BT
ST HRAT AT B B A

Options :

1. % T B 319 T8

2. % §HR Y SR Yl

3. ¥ S US 990 & 39 Hgl I 314
4. % D PR PUA IE

Question Number : 191 Question Id : 967947192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu U are & forw I i &1 9g= S|
ST BT 39T 81 B R

Options :

1. % G DI 3 a1

2. % §BHR I IR Yl

3. ¢ 0 US 999 & 3H FHal § MY
4. % B R HUH A

Question Number : 192 Question Id : 967947193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fou e fovm fogl & © amoa g &1 uga Sifvie|

Options :
1. % .
2.¥°
3.% 9

4. % |

Question Number : 192 Question Id : 967947193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau TTu fovm gl © O @rgg g &1 ugad S|
Options :

l.pw :

2.0

3. %9

4. % |

Question Number : 193 Question Id : 967947194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad = # fou U IR fawedl & 39 fawen &1 999 &2 Sl fou T geTak & o &) 99y © 0 ¥ ad aidl |

PR s 1 RRT TAER 31 87
Options :

1. ¢ Feiol IR Y I

2. % PHRI DY

3. % BT R EY

4. % It R AT

Question Number : 193 Question Id : 967947194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fYed ®iM T 3T TN IR fawent & 39 fawen &1 997 & 51 fou U GeTak & 31 o) Y49 U J oJad Rl g |

IR ISl 1 JRRT dER 31 /2
Options :

1. ¢ deiol R g 9

2. % HHI DY

3. % HUICI R HY

4. % 3Tl QR AT

Question Number : 194 Question Id : 967947195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad ve , fau 0 aR fawedl & 9, 39 fadmed &1 997 & S fou U geTark & 31 ol Ia9% U I oJad HRdl g |

38 D1 GGl
Options :

1. % HHIR Hfad
2. % el Al

3. % Ul Afdd
4. ¢ A fed

Question Number : 194 Question Id : 967947195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR faweat & ¥, 39 fawen &1 7997 &3 51 fou U geTak & 31 ol Id9% U § odad Rl g |

3{S 1 ABIaT
Options :

1. % DR Hfdd
2. % el Hfdd




3. % Ul Afdd
4. ¢ YA fed

Question Number : 195 Question Id : 967947196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foT U a1 & favH g &1 UgaH S|

fd® 3 BT UT-“TIRTS §HRT o SBR g 1”
Options :

1. ¥ IS g

2. % UT5(od gab fog

3. % fgarur i

4. % HI¥D

Question Number : 195 Question Id : 967947196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTu ¢ a1 & favH fvg &t ugaH Sifvg|

fadie 7 g UI--TaRTo! gHRT o SRIBR B 1

Options :

1. ¢ I forg

2. % TG0 Jaeb

3. % fqaquur forg

4. % DIYD

Sub-Section Number : 2

Sub-Section Id : 96794712
Question Shuffling Allowed : Yes

Question Id : 967947197 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No



Question Numbers : (196 to 200)

fQ 77U eI B eATYd e ufeu IR U & IR T

AR <X H fafd Hqu urs ot € 1 81N 81 38 UHR Bt By Had! €, ! 3aft TRmaR & #giHi &1 gldl ¢ | HRda Bgell 7 ada
B, IS g, TRS Fg, gHd B, 3R RIRR g 8, 37 T-wgai H Ia 9% Fg a8d A oTd ¢ | 30 Barel Ul HT ST 8 | ST
T SHaRT ¥ U a edl ¢ | afe HRATT SFHRTUFT & 3T G811 ST df 36T 98 9Ia- ¥ d=IRG A8 0 gidl § | 944, 59 g B
Hied Faifie gl g |

39 g H UPTd 30 Hyul 11 F Foft s <cft 3 1 Fod Uopfal grcll-gpaelt Il 7o STt g1 a1 H, il H, el H, TMid-=1ex 3nfe geft
RIFl TR Td Fg BT THIE GTd 81 §1dT & | THid BT 8 T <RI, 3HYS R JEIa-T fedrs odl ¢ | T UHid IR a¥id Bg BI Yadl
&1 YUIT USdl 8| Wal H 68 UHR ST HUA I 8, 841 He T I 98! ¢ | Iguf ardreror & Hredhd! &1 Sk § | 3d g BRI 8|
A g AT Yexdl b BRI GG I g A St o | T B B (G- FHM 3fafd arel 81 & | I o Th1=1 & Ard-A1y Jd 3R dgA
1 HT TR-TR I B BT B et & | T AT & JTe JaH 81 O & | T T I JATH0T &1 1 2HT S8 & §eh g |

Sub questions

Question Number : 196 Question Id : 967947198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR o IR ST aTell i A Bq Tad 98 Bl 82

Options :

Question Number : 197 Question Id : 967947199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qd T B! Yaxdl BT UHTd BBl USdT 82
Options :

1. % W H

2. ¢ U UHid R

3. % SRl |

4, % G|




Question Number : 198 Question Id : 967947200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G Bq W T JAE 811 82

Options :

1. ¢ fga1a

2. % JSHI-ASH!

3. % BTN

4. % ga-Had

Question Number : 199 Question Id : 967947201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7TQ aTer § 1 AT § 1 iforg | Syt arararur § Aredhdl BT S |
Options :

1. % IR} RB 37 b ST 8|

2. % TR X% gal ga- Il g |

3. ® IR IR g8 fe@ rar g1

4. ¢ IRI B g4 I g Aghal I TS5 |

Question Number : 200 Question Id : 967947202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feQ TTQ TR 1 e e

Options :

1. % U B b PRU

2. ¢ B gd

3. % B3l b wU

4. % F37 BT YT

Question Id : 967947197 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :



No
Question Numbers : (196 to 200)

f&T 71T T P eATYE S Ufeu iR Uil & TR SifoTe |

AR < H fafts U uTs Sl € | §9R 81 88 UHR &1 B Had 8, e S/afyy mar &l 7l &1 gidl 8| HRda Bgsi § aud
Fq, W B, IRE By, g0d B, AR RRR 7 §, 37 T T a3 4§ Fq a6d A oIt 8 | 39 Bl 1 H81 91al 6 | ST
UG SR Y 3O d 8l ¢ | fe YR SITUHT & ST ¢ @l S <l SHHT JHY a9 ¥ a2IE AT d% gidl & | 9aqd, 39 Hq &I
Tied Taifis grar g

Y Hg N UPpfa 3 Iyuf T 7 goit i 3t B | Ived Ul gct-grat I oR ot 81 9= , ol |, el H, Tiia-reR onfe gaft
Rl IR a8d g BT THIT S/ &1 §79aT ¢ | T BT 8 7Y R, 3HYD 3R YeTa-T foars <dT & | A UPa IR a8d g B Yadl
BT YHTT USdl 5| Wdl H B3 UHR $I B Il 6, §a1 Ha 1 I S8l ¢ | JYUl ardrervr § Jredhdl ST S & | I8 ﬂﬁg‘?lsgilwl’%l

I g 3 Yedl & RO G I8 Fg A o1l ¢ | 3T B | (-0 JHH @i aral 81d € | T & UHT=T & A1Y-T1d I 3R I&HT
&1 MU IR-IR T B SATHIT HR At § | Fa ATARTHA & reH JaH 81 offd & | G =0 J UTH0T &5 ST MU S8d & a1 g |

Sub questions

Question Number : 196 Question Id : 967947198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd 7 U 9 arell o I B Jod 9 gl 22
Options :

1. % 7y

2. ® fRIRR

3. ¢ g4d

4. % gHd

Question Number : 197 Question Id : 967947199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jd T D1 Yaxdl BT UHTT BBl TSl 82
Options :

1. % R H

2. ¢ GHE Uhid IR

3. % §ORI A




4, % 9feai R

Question Number : 198 Question Id : 967947200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
29 g H 1 9 BT 82

Options :

1. ¢ fga1a

2. % JSHI-ASH!

3. % Ba-TN

4. % g5

Question Number : 199 Question Id : 967947201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT 77U Ire @ o AT § 91d P | Jyuf ararearvr § Areswdr 31 S g |
Options :

1. % IR b 39 Tl ST |

2. % IRI B g1 I T B |

3. % IR} RB I foa A g |

4. ¢ IR RG T T g Higehd A TS5

Question Number : 200 Question Id : 967947202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faw e et o1 2ies T 52

Options :

1. % G B b BRU

2. ¢ BN A

3. % B3l b TU

4. % B3 BT U



